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Question Number : 1 Question Id : 5406266836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

CDE, IHG, KLM, QPO, STU, ?
Options :

1. ¥ YXW

2. % WXY

3. % XYW

4. % XWY

Question Number : 1 Question Id : 5406266836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fau e famedl & 9, J0ft § g 31eR 1d S|

CDE, IHG, KLM, QPO, STU, ?
Options :

1. ¥ YXW

2. % WXY

3. % XYW

4. = XWY

Question Number : 2 Question Id : 5406266837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

DMP, FLN, HKL, JJJ, ?
Options :
1. ® MII
2.% LIH
3. % MIF
4. % MIH

Question Number : 2 Question Id : 5406266837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu TTu faeedl # ¥, 907 H qud 31eR F1d Hifod |

DMP, FLN, HKL, JJJ, ?
Options :
1. % MII
2. % LIH
3. % MIF



4. = MIH

Question Number : 3 Question Id : 5406266838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given responses, find the missing letter in the series.

ZY, WVU, ?, NMLKJ
Options :

1. ¥ SRQP

2. % SPQR

3. % SPQ

4. % SPQP

Question Number : 3 Question Id : 5406266838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau e famedt & 9, J0ft § g 31eR 1d B

7Y, WVU, 72, NMLKJ
Options :

1. ¥ SRQP

2. % SPQR

3. * SPQ

4. = SPQP

Question Number : 4 Question Id : 5406266839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word from the given alternatives.

CURE : DISEASE : : HEAL : ?



Options :

1. # Illness
2. ¥ Injury
3. % Recover
4. # Sick

Question Number : 4 Question Id : 5406266839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu mu faewedl ¥ Tefdd Wee &1 gAu|

W:W::WW:?
Options :

1. % SR

2. ¥ dc

3. % WG

4, % LAY

Question Number : 5 Question Id : 5406266840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word from the given alternatives.

Cotton : White :: Coal : ?
Options :

1. # Fire

2. # Mine

3. % Wood

4. ¥ Black

Question Number : 5 Question Id : 5406266840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fau 7T faement o I Hefid xrsg &1 gl

HURT : g : : DI : 2
Options :

1. % M

2. % Wqld

3. % Fhol

4. & DIl

Question Number : 6 Question Id : 5406266841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the related word from the given alternatives.

Words : Sentence :: Paragraph : ?
Options :

1. # Typing

2. ¥ Essay

3. % Letters

4. % Phrase

Question Number : 6 Question Id : 5406266841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu U faewedl @ Tefdq wee &1 gfAu|
Teg ; I - WU : 2

Options :

1. % <HU
2. ¢ &Y
3. 8 3&R



4, % JIHQ

Question Number : 7 Question Id : 5406266842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ‘Magazine’ is related to ‘Editor’ in the same way as an ‘Drama’ is related to
Options :

1. ¥ Director

2. % Hero

3. # Heroine

4. % Painter

Question Number : 7 Question Id : 5406266842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

59 yeR ufier, Twee A 4Efa s, SHUsR Alce . A 9efa Bl
Options :

1. ¢ T9d2

2. % Aqd

3. # HIPT

4. % fREeR

Question Number : 8 Question Id : 5406266843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

CEGI : XVTR :: DFHJ : ?
Options :

1. # XTRT

2. % XQOM

3. % ZVSQ



4. ¥ WUSQ

Question Number : 8 Question Id : 5406266843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fa Uy fou e famedl # @ GafRd sier) &1 g Sifod|

CEGI : XVTR :: DFHJ : ?
Options :

1. % XTRT

2. % XQOM

3. % ZVSQ

4. ¥ WUSQ

Question Number : 9 Question Id : 5406266844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

QSUW : TVXZ :: ACEG : ?
Options :

1. #* KMNP

2. % EGMN

3. % DFHJ

4. % FHIL

Question Number : 9 Question Id : 5406266844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy fou e fawedl # @ GfRd 3ier) &1 g Sifod|

QSUW : TVXZ :: ACEG : ?
Options :



1. ®* KMNP
2. * EGMN
3. ¥ DFHJ
4. % FHIL

Question Number : 10 Question Id : 5406266845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

AZB :BYC :: CXD:
Options :

1. ¥ DWE

2. % DEF

3. * YOG

4. % FRE

Question Number : 10 Question Id : 5406266845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o uyd fou e fawel § @ g=fRid siar &1 g7 S|

AZB :BYC :: CXD:
Options :

1. ¥ DWE

2. % DEF

3. % YOG

4. % FRE

Question Number : 11 Question Id : 5406266846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If'A’ is coded as 1, ‘B’ as 3, ‘C’ as 5 and so on, which of the following is the sum of the numerical value of the word ‘FAZED’?



Options :
1. * 81
2.¥79
3. % 77
4. % 80

Question Number : 11 Question Id : 5406266846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gie'A BIHC 1, ‘B’ BT HC 3, *C’ Bl 5 AU T UbR 81 ol, HEfIRId § ¥ ‘FAZED’ Xeg o HBHTHSD HIH &1 AN Thel T g2
Options :

1. * 81

2.¥79

3. % 77

4. % 80

Question Number : 12 Question Id : 5406266847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If “MUSIC” is coded as “NDVIJT” in a certain code language, then how will “OCTAVE” be coded in the same language?
Options :

1. ¥ PFDWUB

2. % PDFWUB

3. ¥ WUBPDF

4. * WDFPUB

Question Number : 12 Question Id : 5406266847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fareit fAf3d e WTWT &, “MUSIC” BT “NDVIT” & &0 H foraT ST §, Ot ST & T H, “OCTAVE” B! fhd TR forar smam

Options :



1. ¥ PFDWUB
2. * PDFWUB
3. ¥ WUBPDF
4. % WDFPUB

Question Number : 13 Question Id : 5406266848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If ‘red’ means ‘black’, ‘black’ means ‘brown’, ‘brown’ means ‘yellow’, ‘yellow’ means ‘pink’ and ‘pink’ means ‘red’, and then what will be the
colour of blood in this language?

Options :
1. # Pink
2. % Red
3. % Black

4. % Brown

Question Number : 13 Question Id : 5406266848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g arer &1 31 e 8, ‘wrar o7 3 > |, YR &1 3 diar g, e o1 31 et 8 3R erelt & o @rer 8, df 39 | § Xad &
T T N?

Options :

1. % T[crel

2. % dTd

3. ¥ DIl

4. % W

Question Number : 14 Question Id : 5406266849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If ‘INSPITE’ is coded as ‘91419169205’ in a certain language, then how will ‘INSTEAD’ be coded in the same language?
Options :



1. ¥ 9141920514
2. % 9141902514
3. % 9141920154
4. % 9114920514

Question Number : 14 Question Id : 5406266849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& INSPITE’ B! Ueh FIf3d T & ©91419169205° & =0 & FHfed faral T 8, Al “INSTEAD’ BT ST U H o5 Ffed farar smam
Options :

1. ¥ 9141920514

2. % 9141902514

3. % 9141920154

4. % 9114920514

Question Number : 15 Question Id : 5406266850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Six girls P, Q, R, S T and U sit in a row, not necessarily in the same order. T sits exactly in between R and Q. P sits exactly in between Q and U.
Who sits exactly in between T and P?

Options :
1.¥Q
2. % R
3.% 8
4. % U

Question Number : 15 Question Id : 5406266850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BT ASIHATP, Q, R, S, T 3R U T Ufdd A 931 &, SRyl Tl fh S pHH BN T, R IR Q S Slp S H 93T 81 P, Q 3R U P b srg A
o<1 81 T 3R P & 3l o | DI oo 82

Options :




1.¥Q
2. % R
3.% 3
4.% U

Question Number : 16 Question Id : 5406266851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four persons A, B, C and D arrive to attend a meeting. D arrives 10 minutes after B and twenty minutes before A, who arrives 10 minutes before
C. Who is the first person to arrive at the meeting?

Options :

1. ® A

2.¥ B

3.5 C

4. % Either D or B

Question Number : 16 Question Id : 5406266851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR Afad A, B, C 3R D T HfdT H YT o1 & T 3 §1 D, B & 10 fFie a1 3R A § 619 fiFie uga amar g, s ¢ 10 e uga s
g1 HiféT & ugem aran ugen safad HiH g2

Options :

1. % A

2.% B

3. % C

4. % QIAIDAB

Question Number : 17 Question Id : 5406266852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Six persons — A, B, C, D, E and F sit around a circular table. D is adjacent to A and E. B is adjacent to E and F. Who is opposite C?
Options :



1.¥E
2.% A
3. F
4. %D

Question Number : 17 Question Id : 5406266852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B8 AfGd- A, B, C, D, E 3R F THh JATHR IS & IR] 3R 98 §, ST=! g1 b U HAA G D, A SR EF Abeadi 81 B, EARF &
fFdeadi 51 ¢ & famid & 87

Options :

1.¥E

2. % A

3.%F

4. % D

Question Number : 18 Question Id : 5406266853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If you are 19th person in a queue starting from one end and 17" from another end. What is the number of persons in the queue?
Options :

1. ® 36

2.9 35

3. % 37

4. % 33

Question Number : 18 Question Id : 5406266853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AU HAIR T TH BR Y 199 Al & TUTGIR BRI 17d WM W 8| HaAR & AfGqd] &1 G fba-l g2

Options :



1. # 36
2.9 35
3. % 37
4. % 33

Question Number : 19 Question Id : 5406266854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A is mother of B & C, E is husband of B, D is father-in-law of E, F is daughter of E then How is F related to C?
Options :

1. #* Daughter

2. # Sister

3. % Mother

4. ¥ Niece

Question Number : 19 Question Id : 5406266854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfg A, BIRCHIAMIG, E, BHIUNE, D, EBI TR &, F, EH dcl §, Al F, C  fohd bR Iafdd g2
Options :

1. % §cl

2. % dgd

3. %9

4. ¢ Yt

Question Number : 20 Question Id : 5406266855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below are given two statements followed by three conclusions. You have to take the given statements to be true even if they seem

to be at variance from commonly-known facts. Read all the conclusions and then decide which of the given conclusion(s) logically follows from
the given statements disregarding commonly known facts.



Statements:
Some trees are roads.
All roads are stones.

Conclusions:

I. All trees are roads.

II. Some stones are trees.
III. No stone is tree.

Options :

1. # Only either IT or III follows
2. % Only either I or II follows
3. # Only either I or III follows
4. % Only II follows

Question Number : 20 Question Id : 5406266855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 fou 7T U # @ Y 3R 9P 91E i e AT U § 1 Ut fAT TN U ot I WA § HA 81 3 gasrd a9 i vreltd g
gl uft freeuf &1 ufeu fthr g Sifore fos fou e sl & T S 1 dheiTd U I SIERUI Bl §, 916 Jd31d 9 $ H 8l

HhY:
$6 US, GSH o |
i Ied, TR B

fsem:

L9 Us, TS+ g |

II. $3 TR, US B

111 P15 TRR, US 51 5|

Options :

1. % g a1 al I T 111 39R01 Hdl §
2. % HaA AT Al T 11 3FIERVT Bl §
3. % %Had g1 al 1 T 11 3IER0T Bl §

4. ¢ BT 11 T8 BT &




Mental Ability2

Group Number : 2

Group Id : 540626213
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General intelligence and reasoning Ability2

Section Id : 540626292
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626339
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5406266856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question below are given three statements followed by three conclusions. You have to take the given statements to be true even if they

seem to be at variance from commonly-known facts. Read all the conclusions and then decide which of the given conclusion(s) logically follows
from the given statements disregarding commonly known facts.



Statements:

Some sugars are fats.

Some fats are vitamins.
Some vitamins are proteins.

Conclusions:

I. Some proteins are fats.

II. Some fats are sugars.

III. Some vitamins are sugars.

Options :

1. ¥ None follows
2. % Only I follows
3. % Only III follows
4. % Only II follows

Question Number : 21 Question Id : 5406266856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T T Uy & 1 B 3R 3P 916 i (b ST U § | 30! fAT U ol &l 9 AT 8 Yol 81 d Fasird a2 3 g el grd
gl Tt freemef &1 ufeu iR au FifoTe fos faw T ferst & T S A1 aohaivTd U ¥ SII¥RUI $HRd1 &, I8 Ja9Td 9 $3 Ui g

HY:

S D, qAT 3|
%3 a4, faerf= g
%o ferftq, M B

fsem:

. $S WEH, aar g

II. $& a9, AH ¢ |

111. B qeIftq, T |
Options :

1. % I3 IIRT T8 HRAT 8
2. % HAd [ IRV HT §
3. % Had [ IR0 HRAT §




4. ¥ Had 11 3RV Hl §

Question Number : 22 Question Id : 5406266857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate combination of signs to solve the following expression.

16 *8*1*8§
Options :
l. ® =—=
2.9 —+=

3% - =

4, % +=_

Question Number : 22 Question Id : 5406266857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 S B 5 B & QT Hovdll o ST HAISH T T Hiford|

16 *8*1*8
Options :
l. ¥ =—=
2.¥ —+=
3.% +—=

4, % +=_

Question Number : 23 Question Id : 5406266858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

13457892, 1345789, 345789, 34578, ?
Options :



1. * 3457
2. ¥ 4578
3. # 8754
4. % 4789

Question Number : 23 Question Id : 5406266858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=i &t Tt 9uft § e AT [ it

13457892, 1345789, 345789, 34578, ?
Options :
1. % 3457
2.9 4578
3. % 8754
4. % 4789

Question Number : 24 Question Id : 5406266859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number in the series given below.

3,8,22,63,185,?
Options :
1. *= 285
2. % 295
3. % 310
4.+ 550

Question Number : 24 Question Id : 5406266859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e & it 2ol B g T w1 il

3,8,22,63, 185, ?
Options :
1. % 285
2. % 295
3. % 310
4. % 550

Question Number : 25 Question Id : 5406266860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which two signs should be interchange to make the following equation correct?

18+24-6x6+3=39
Options :

1. # ~and +

2. % +and —

3.% +and -

4, % xand +

Question Number : 25 Question Id : 5406266860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad THieRu &) T8l s & fore {51 &) fogl ) TR e o Afew?

18+24-6%x6+3=39
Options :

1. % + 3R+

2. % 4+ 3R -



Question Number : 26 Question Id : 5406266861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

215:342::728 .7
Options :
1. % 989
2. % 859
3. % 987
4. 999

Question Number : 26 Question Id : 5406266861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad uy |, feu U fawedl § O TR =1 &1 I99- S|

215:342::728:7?
Options :
1. % 989
2. % 859
3. % 987
4.+ 999

Question Number : 27 Question Id : 5406266862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What comes in place of question mark (?) in the figure given below?

12 44 96
41 23 205
S50 33 I';




Options :
1. ¥ 300
2. % 500
3. % 330
4. % 350

Question Number : 27 Question Id : 5406266862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

i feu TTe fom © iy g (2) & I IR T ST

12 44 96
41 23 205
S50 33 I';

Options :
1. ¥ 300
2. % 500
3. % 330
4. % 350

Question Number : 28 Question Id : 5406266863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following diagram represents January, December and Months?

Options :



Question Number : 28 Question Id : 5406266863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § 3 o W spfa SHad), ieder 3ik #EHT & g=ifdt 82

Options :

5



3.¢

O © o3

Question Number : 29 Question Id : 5406266864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a group of 60 persons, some prefer tea; some prefer coffee and some both. If 50 prefer coffee and 20 both, then which of the following is the
correct way of representing the Venn diagram?

Options :

QD




&

<>
oD

Question Number : 29 Question Id : 5406266864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
60 TfFadl & THE T, $S 1 TG B ; PS HIP! UG HRd & AR $S QM| AfE 50 BIHT 3R 20 GHI UG HRA &, dl Y T I DI AT
9 3R 1 e TRl J Tl &

Options :

QD




oD
oD

Question Number : 30 Question Id : 5406266865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Laxman went 15 km to north then he turned West and covered 10 kms. Then he turned South and covered 5 kms. Finally turning to East he
covered 10 kms. In which direction he is from his house?

Options :
1. * East
2. % West
3. % North
4. * South

Question Number : 30 Question Id : 5406266865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT I fe=n & 15 fop 1Y, =ra iR R a8 ufw fo=n # gear 10 fo. it 7| R ag < fomn & ger 8k 5 . . gan siaa: gd
fa=n o geor a8 10 {1, =@ 9@ a8 31gA R ¥ forg fezn &t 3R g2



Options :
1. % qd
2. % Uigy
3. ¥ 3
4. % gfgor

Question Number : 31 Question Id : 5406266866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pran and Khan start from their office and walks in opposite direction, each traveling 10 km. Pran then turns left and walks 10 km while Khan
turns right and walks 10 km. How far they are now from each other?

Options :

1. ®¥ 0km
2. % 5km
3. % 10 km
4.9 20 km

Question Number : 31 Question Id : 5406266866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3R GH 3% R 3§ faoid fe=msii & Ia URY &R §U U 10 f 9ad g | U R 91T g SIrar 8 $iR 10 [ gaan § Siafe
W &IT S ST § 3R 10 fh Iad1 81 98 T gaik ¥ fahal gl IR 82

Options :

1. % o fot

2. % 5ot

3. % 10 fot

4.+ 20 T dl

Question Number : 32 Question Id : 5406266867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Dhanesh walks 50 metre east and then he turns to his right and walks 30 metres. Now, in which direction is he from his starting point?



Options :

1. # South-west
2. % North-east
3. #* North-west
4. ¥ South-cast

Question Number : 32 Question Id : 5406266867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eI 50 Hier Id Bt 3R Iadl & 3R a8 fhR &IT 3T § 3R 30 HieR Iadl g | 31§ 98 TR foig ¥ fry fezm & &2
Options :

1. % gferor-afgm

2. % IaR-Ud

3. % JaR-UfEH

4. SRR gd

Question Number : 33 Question Id : 5406266868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person starts walking from point P in east direction. After walking 3 m he turned right and walked for 5 m. He then turned left and walked for
4 m. He then turned left and walked for 6 m. He then turned left and walked for 4 m and stopped at point Q. What is the direction of point Q with
respect to point P?

Options :

1. ¥ North-east
2. # South-west
3. % West

4. # South

Question Number : 33 Question Id : 5406266868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T faa gd = & fag p ¥ IoH1 UR™ &1 ¢ | 3 Hiex 90 & dIg 98 als 3R 48 offdl § 3R 5 e aaar 5| fhr a5 a18 iR gsars
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Options :

1. v ICR-Gd

2. % Cf&or ufgH
3. % gigH

4. % fgor

Question Number : 34 Question Id : 5406266869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which answer figure will complete the pattern in the question figure?

Question Figure:

N\

Options :




Question Number : 34 Question Id : 5406266869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DIF-T IR 3P, T 3Mpa | Ued &l QI Bt
T HTPIcT:

N\

Options :




Question Number : 35 Question Id : 5406266870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question given below, which one of the four answer figures should come after the question figure on the right, if the sequence were
continued.

Question figure:

@ NN = +
+ =0 e ?
® + = @+

1 2 3 4 5
Options :

= X ®

A
L= |0 S

#®
> x
O

w




+ @

A D

#®
I

3.

+ @

A
O s

4. ¢

Question Number : 35 Question Id : 5406266870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

e feu U Uy |, FEfiied TR SR onefd # § ®F It oewfd, Uy efa o §18 SMTE A 39 HH &I 37 9G-S |

T TPl

& IAA = +
+ =] @
® + ® +
1 2 3 4

Options :
= X ®
A

1. % Os




> ox
O
w

2. 8

+ @

AQ

et
®
I

+ @

A
svIES

Question Number : 36 Question Id : 5406266871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question, select the related figure from the given alternatives.

U %]

%




2. %

7
7
Y

Z

4.9

Question Number : 36 Question Id : 5406266871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gy o, fou Tt fowedl O O J&d siipfa &1 9g Sifoe|
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Question Number : 37 Question Id : 5406266872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, find the answer figure in which question figure is embedded.

Question Figure:

%

Options :




VA
.« [

Question Number : 37 Question Id : 5406266872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad Uy 5, 39 SR 1HTd BT 1d HifoTe o Uy pia afafgd gl
g HTPiar:

%

Options :




~— ]
L —

2. ®

3. %

Question Number : 38 Question Id : 5406266873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the following answer figure is the right image of the given figure?

4.9

Question Figure:

=1

0 Q
A B

Options :
Q Q

=




Question Number : 38 Question Id : 5406266873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR 3Mpiaat H oI I 31epfa Uy snpfa &1 g8t ufafara givft ofa gdur &Y 3a1 AB TR a1 S
g AP
>

0 Q
A B

Options :




3. ¢

Question Number : 39 Question Id : 5406266874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A piece of paper is folded and punched as shown below in the question figures. From the given answer figures, indicate how it will appear when
opened.



Question Figure:

Options :

1.¢¥

3. %

Question Number : 39 Question Id : 5406266874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



et forst H faTT 1T SITR TS 61 U TSl AIST ST § 3R bR IH &¢ foval SITa1 § | TS &l WidH & 91 a8 T Qg e
wee IS

R
Options :
1. v
2. #
3. %
4. %

Question Number : 40 Question Id : 5406266875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



How many triangles are there in the following figure?

Options :
1. %3
2.9 6
3.%9
4. % 4

Question Number : 40 Question Id : 5406266875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa smefa & feam By 82

Options :
1. %3
2.¥6
3.%9
4, % 4

General Awarenessl



Group Number : 3

Group Id : 540626214
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awarenessl

Section Id : 540626293
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626340
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 5406266876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the Hawa Mahal of Jaipur constructed?
Options :

1. % 1791

2. % 1795

3. ¥ 1799

4. % 1806



Question Number : 41 Question Id : 5406266876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SRR &1 891 Hed (b a8 §=ITT 74T UT?
Options :

1. ® 1791

2. % 1795

3.9 1799

4. % 1806

Question Number : 42 Question Id : 5406266877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following dance-forms is the Geetar Nach a part of?
Options :

1. * Kuchipudi

2. ¥ Sattriya

3. # Kathak

4. % Kathakali

Question Number : 42 Question Id : 5406266877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fivex 7 fAgfefed § @ &9 ¥ T &1 g g2
Options :

. % Plagel

2. ¢ Yl

3. % hd

4. % HYDAl




Question Number : 43 Question Id : 5406266878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following states is Theyyam a ritual art of?
Options :

1. # Gujarat

2. % Andhra Pradesh

3. ¥ Kerala

4. % Mabharashtra

Question Number : 43 Question Id : 5406266878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 ford 0 § 9w U ARG Ia® Hal 82
Options :

1. % TSRId

2. % 3fiY Y

3. ¢ B

4. % HeRTY

Question Number : 44 Question Id : 5406266879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which of the following cities is the Sheesh Mahal situated?

Note: For this question, discrepancy i1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. Patiala

2. Jodhpur

3. Ahmedabad

4. Raipur



Question Number : 44 Question Id : 5406266879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=it med uffed 7 9 fr e A Ra 72
Note: For this question, discrepancy 1s found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :
1. afearan

2. SIYQR
3. 3lgHaldlg

4. IR

Question Number : 45 Question Id : 5406266880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who out of the following sing the folk music Sana Lamok in the North-East?
Options :

1. % Farmers

2. ® Unmarried girls

3. ¢ Priests

4. % Sailors

Question Number : 45 Question Id : 5406266880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafed # § 19 IWR-gd # e iiid I At T 82
Options :

1. % foam

2. % 3ffgared asfdpar




3. ¢ QTR
4. % 1!

Question Number : 46 Question Id : 5406266881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the Chairperson of the State Bank of India?
Options :

1. # Anshula Kant

2. # Arundhati Bhattacharya

3. % Urijit Patel

4. ¥ Dinesh Kumar Khara

Question Number : 46 Question Id : 5406266881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR W §F & S8 HH 67
Options :

1. % 3T B

2. % 3HYA HETE™

3. % Qi ucd

4. ¢ TG FUAR @RI

Question Number : 47 Question Id : 5406266882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was launched in the Union Budget 2020-21?
Options :

1. ¥ Kisan Rail

2. % Krishi Rin

3. # Kirishi Urja



4. % Kisan Shakti

Question Number : 47 Question Id : 5406266882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad & O fovd gt awic 2020-21 H di- fovar mam U1
Options :

1. ¢ faHd
2. % DY BT
3. % PN SHoll
4. % foogme wfdd

Question Number : 48 Question Id : 5406266883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What are the people called who are rich most of the time but may sometimes have a patch of bad luck?
Options :

1. #¥ Chronic poor

2. % Churning poor

3. ¥ Occasionally poor

4. ¥ Non-poor

Question Number : 48 Question Id : 5406266883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 39 a7 & Al &1 31 g1 ST § Sl I THg 4 Yed § IReg St Faft S9at yig Y T8 <an
Options :

1. % a1 g

2. % iy e

3. ¢ i fAeda

4. % IRFE




Question Number : 49 Question Id
Orientation : Vertical

: 5406266884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
As per the Union Budget 2021, the Indian economy is showing what type of economic recovery?

Options :

1. # I-shaped
2. ¥ A-shaped
3. ¥ V-shaped
4. #® C-shaped

Question Number : 49 Question Id
Orientation : Vertical

: 5406266884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

HER FoIC 2021 B TR HRATT SR fhd UhR &1 Revas) Bl 3R SRR 72

Options :

1. % 1-3[HR DI
2. % ATHR DI
3. ¢ V-3DHR Bl
4. % C-3THR DI

Question Number : 50 Question Id
Orientation : Vertical

: 5406266885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
In which of the following food articles is oxalic acid found?

Options :

1. % Amla
2. # Grapes
3. ¥ Spinach
4. ® Vinegar

Question Number : 50 Question Id

: 5406266885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraferiad o ¥ fore e axq & SHiaRiore Si Ur il 62
Options :

1. % 3HAT

2. % 3R

3. ¥ UIddh

4. % RRPT

Question Number : 51 Question Id : 5406266886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following scientists had discovered that time period of a given pendulum is constant?
Options :

1. ¥ Galileo Galilie

2. # Nicolas Copernicus

3. #® Johannes Kepler

4. ¥ Albert Einstein

Question Number : 51 Question Id : 5406266886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafad 8 3 few afe 3 ug @i foar &1 U U ids &1 siadere Fad gar g2
Options :

1. ¢ Tiferferan ferdt

2. % oIy DIRMHY

3. % gHY (STg-iel) PR

4. % 3feEC ATEH

Question Number : 52 Question Id : 5406266887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a naturally occuring polymer?
Options :

1. # Nylon

2. % Rayon

3. # Terylene

4. ¥ Cotton

Question Number : 52 Question Id : 5406266887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafifiad & @ &9 U6 UTphfae 9gad |2
Options :

1. % e

2. % M

3. % CidH

4, ¥ dUNYH

Question Number : 53 Question Id : 5406266888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a bacterial disease?
Options :

1. ¥ COVID

2. % Malaria

3. ¥ Typhoid

4, % Influenza

Question Number : 53 Question Id : 5406266888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafefad # 9 a1 T ShaTy] §RT 81T 67



Options :

1. % BIfdg
2. % TRl
3. ¥ CIRWIRS
4. % FUUST

Question Number : 54 Question Id : 5406266889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the Spring Balance used to measure?
Options :

1. ¥ Force

2. # Temperature

3. % Length

4. % Voltage

Question Number : 54 Question Id : 5406266889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 P A0 & oY HAMIEGR JaT BT ITANT {1 S g |
Options :

1. ¥ ddc]

2. % dYHE

3. % TETs

4. % gleedl

Question Number : 55 Question Id : 5406266890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What are yeasts, molds, mushrooms examples of?
Options :



1. ¥ Fungi
2. * Protista
3. ® Monera

4. % Plantae

Question Number : 55 Question Id : 5406266890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ol ¥ 9 O, dics, 7RRd fodd 3aTexul 62
Options :

1. ¥ hddh

2. % Yifewer

3. % HFRT

4. % ict

Question Number : 56 Question Id : 5406266891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are also known as sponges?
Options :

1. # Coelenterata

2. # Platyhelminthes

3. % Porifera

4. # Nematode

Question Number : 56 Question Id : 5406266891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiad 7 9§ @il {5 w81 wrar g2
Options :

1. #® Hidievel




2. % WcIola
3. ¢ IR
4. ® fqHTrST

Question Number : 57 Question Id : 5406266892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wind erosion is significant in which of the following regions?
Options :

1. ®* Wetlands

2. % Coastal regions

3. ¥ Heavy rainfall and steep slopes

4. % Arid and semi arid regions

Question Number : 57 Question Id : 5406266892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foferiad 7 9 {59 &7 7 Uga gRT 3R B! a7 ST 82

Options :

4?&1@53%?&&4??1@65%3

Question Number : 58 Question Id : 5406266893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

“Asia has many places where people are few and few places where people are very many” is quoted by which of the following geographer?
Options :

1. # George Carlin

2. ¥ George B.Cressey



3. # Arthur Gomes
4. # Griffith Taylor

Question Number : 58 Question Id : 5406266893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR H e VAT IR BHH TN SR HH VUM R e AT I8 5 1" 78 H 9 fob 1 f7ietat gR1IqYd fobar T &2
Options :

1. % SIS B

2. ¢ Gifel o, hel

3. % MR

4. % Y TR

Question Number : 59 Question Id : 5406266894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following tree grows mainly in the western part of the Himalayas and is a highly valued endemic species for its durable wood,
mainly used in construction activities?

Options :

1. # Silver Firs
2. ® Junipers
3. % Deodar

4. % Pines

Question Number : 59 Question Id : 5406266894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@ﬁwq&rww@r%w%q@ﬁrwﬁww%ﬁwmmwaﬁ%ﬁ?ﬁﬁmwﬁ e & STl

Options :

1. % ReaR W
2. % g



3. ¢ GdGR
4. % U124

Question Number : 60 Question Id : 5406266895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

On which of the following river, the Sardar Sarovar Project has been constructed?
Options :

1. # Vaitarna

2. % Saraswati

3. # Sabarmati

4. ¥ Narmada

Question Number : 60 Question Id : 5406266895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofied & ¥ frg 9t R, TReR WRIR IRATSHT H1 FHaior fasar ma g2
Options :

1. % JaRAT

2. % JI&dl

3. ® HlETA!

4.« FHer

General Awareness2

Group Number : 4

Group Id : 540626215
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No



Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

General Awareness2

Section Id : 540626294
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626341
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 5406266896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the Great Indian Desert located?
Options :

1. # Southeast of the Aravalli hills

2. ¥ Northwest of the Aravalli hills

3. % South of Malwa Plateau

4. # East of the Malwa Plateau

Question Number : 61 Question Id : 5406266896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

farsmmel WRdTg TeRid Hel R 82



Options :

1. ® 3Rl UgTSdl & afemrgg o
2. ¥ 3RMad! UgIfSdl & IRuiyH o
3. % WAl USR & gigor o

4. % AIAAI TR & g4 o

Question Number : 62 Question Id : 5406266897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following water body separates Andaman and Nicobar island?
Options :

1. #* 5 Degree Channel

2. ¥ 10 degree channel

3. #® 15 degree channel

4. # 20 degree channel

Question Number : 62 Question Id : 5406266897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofed # 3 & w1 5 e sisu SR AdiaR g0 &1 & e Yl & diedr g2
Options :

1. % sTEfama

2. ¢ 10 f&ht Ta

3. % |5 TSR aa

4. % 20 f&h o @

Question Number : 63 Question Id : 5406266898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In which year was Pulakesin defeated and killed by the Pallav king Narasimhavarman?
Options :



1. % 621 AD
2. % 628 AD
3. % 639 AD
4.+ 642 AD

Question Number : 63 Question Id : 5406266898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad 4 9 forg av & gead I RRT§HT A Jada & IR $HR AR STaT UT?
Options :

1. % 621 qal

2. % 628 3dl

3. % 639 Z9dt

4. ¥ 642 394t

Question Number : 64 Question Id : 5406266899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under which of the following Mughal rulers did the Mughal Empire reach its peak in matter of area?
Options :

1. # Babur

2. % Akbar

3. # Shah Jahan

4. ¥ Aurangzeb

Question Number : 64 Question Id : 5406266899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ O forg Qe I & SRiea J Gd U Y- &5 § gate fomg de ggdn
Options :

1. ® dlsR



2. % PR
3. % ggelal
4. ¢ 3O

Question Number : 65 Question Id : 5406266900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Under whose leadership did the English fight in the Battle of Plassey?
Options :

1. ¥ Robert Clive

2. % Lord Dalhousie

3. #* Lord Dufferin

4. % Lord Curzon

Question Number : 65 Question Id : 5406266900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 1 dSTs | S fhdos A H dg A2
Options :

1. ¢ S FATed

2. % TS Sogrel

3. % Wl WA

4. % QIS BoiA

Question Number : 66 Question Id : 5406266901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Sultans was Balban Prime Minister to?
Options :

1. #* Qutub-ud-din Aibak

2. % Nasir-ud-din Mahmud



3. # Jalal-ud-din Khilji
4. # Ghyasuddin Khilji

Question Number : 66 Question Id : 5406266901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeied & § gae- fod Yeam & gumEsT 22
Options :

1. ® $g9-3a-4IF WaD

2. ¢ TIRR-3G-<H 784G

3. % Sdd-3e-4H faaoil

4. % TORYE A faersi

Question Number : 67 Question Id : 5406266902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who was known as Sher-e-Punjab?
Options :

1. #* Bhagat Singh

2. # Lala Hardayal

3. % Lala Lajpat Rai

4. # Chandrashekhar Azad

Question Number : 67 Question Id : 5406266902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR-TUSTE & A1H I B ST ST U1?
Options :

1. % yird Rig

2. % Il gRedrd

3. ¢ Il ofSigd T



4. % IR WIS

Question Number : 68 Question Id : 5406266903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which day is celebrated as the Jan Aushadhi Diwas?
Options :

1. % March 5th

2. % March 7th

3. ¥ March 8th

4. % March 10th

Question Number : 68 Question Id : 5406266903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fom &t o N feag & =u & 7= S 82
Options :

1. % 5

2. ¥ 7HE

3. % 3 WTE

4. % 10 HE

Question Number : 69 Question Id : 5406266904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who is the present Home Minister of India?
Options :

1. * Rajnath Singh

2. % Amit Shah

3. * Prakash Javadekar

4. % Ravi Shankar Prasad



Question Number : 69 Question Id : 5406266904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR & T 778 Wl B g2
Options :

1. % oY R

2.« AT e

3. % YDHI STSH

4. % (4 TpR YAIG

Question Number : 70 Question Id : 5406266905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the headquarters of the Land Ports Authority of India situated?
Options :

1. ¥ Mumbai

2. # Chennai

3. # Kolkata

4. ¥ Delhi

Question Number : 70 Question Id : 5406266905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR YA S8 UTTIHRUT &1 AT Hal RUd &7
Options :

1. % 4ag

2. % TS

3. % DIADII

4. ¢ faceft



Question Number : 71 Question Id : 5406266906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?

—

Options :

1. # Parking prohibited

2. ¥ Driving straight ahead mandatory
3. ® Warning for a curve ahead

4. # Road with two-way traffic

Question Number : 71 Question Id : 5406266906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fear man ftees A== o sarar 82




Options :

1. % Tifr wfasfia 8

2. ¢ QT A 3 fard @
3. % 3FI YD deh Dl Idra-it
4. % T P11 &1 I8H

Question Number : 72 Question Id : 5406266907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?

Options :

1. ¥ Mandatory left

2. ® Turning left prohibited

3. # Warning for a curve on left

4. ® Begin of a priority road

Question Number : 72 Question Id : 5406266907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e mar e e o sarar g2



Options :

1. ¢ 918 3R 3ifard

2. % §1Q g ufasfd 8

3. % S8 3R TP g &I a1

4. % UTYTHhdT dTell oo DI 3T

Question Number : 73 Question Id : 5406266908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?

Options :

1. ® Road with two-way traffic

2. % Turning left or right mandatory
3. # Parking allowed



4. ¥ Entry prohibited (road with one-way traffic)

Question Number : 73 Question Id : 5406266908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e ma Sfpes e o ST 82

Options :

1. % G TR ITdTd P! TSH

2. % ¢ 97 &8 g1 3ifard

3. % Tifhi bt A §

4. « Yax Ufaafdd (79-9 b arell Ts®)

Question Number : 74 Question Id : 5406266909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?



Options :

1. ¥ Warning for a traffic light

2. ® Warning for railroad crossing
3. # Dead end street

4. ® Entry prohibited

Question Number : 74 Question Id : 5406266909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e man fthes A== o sarar g2

Options :

1. ¢ Sfthes @Ige & Adtait
2. % YA PRI DI Adra-!
3. % SSTS KT



4. % AN Uieifdd §

Question Number : 75 Question Id : 5406266910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does the below traffic sign mean?

Note: For this question, discrepancy is found in question/answer. So,this

question is 1gnored for all candidates.

Options :

1. Warning for an uncontrolled crossroad on left
2. Turning left mandatory

3. Passing left mandatory

4. Turning left prohibited

Question Number : 75 Question Id : 5406266910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= e man Sfees fAem oar adTar 82



Note: For this question, discrepancy is found in question/answer. So,this

question 1s 1gnored for all candidates.
Options :

1. 913 3R T A3 AR b1 AdraT

2. 10 g1 SR B

3. 913 3R J oA e §

4. 910 g1 vfcreifid §

Question Number : 76 Question Id : 5406266911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As a driver, what should be the first thing you would do if your vehicle plunges into water?
Options :

1. ¥ Honk horn

2. # Shout for help

3. ¥ Remove seat belt

4. # Open window

Question Number : 76 Question Id : 5406266911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3R 1G] dT8+1 U H & STE ot Th SI¥AR o =0 U TTeh! o1 BT Al T2



Options :

1. % B gorT

2. % Hgq & (o faeam
3. ¢ e deg gl

4. % Rgs®!I @I

Question Number : 77 Question Id : 5406266912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A pry bar is used occasionally to check the
Options :

1. % tightness of screws

2. # inflation of tyres

3. ¢ tension of belt

4. # tension of spring

Question Number : 77 Question Id : 5406266912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI IAEA & ol eH-HH T UTR IR &1 ST fhar St 5
Options :

1. % U4l &l pdrae

2. % TRRI &1 HAd

3. ¢ §¢< B T

4. % {11 TG

Question Number : 78 Question Id : 5406266913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A vehicle without a body is called a:
Options :



1. * power plant

2. * suspension system
3. # controlling system
4. ¥ chassis

Question Number : 78 Question Id : 5406266913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
diet & [T IS a8 399 ¥ T Heardl 82
Options :

1. % UlaR Wic

2. % FWTH Ren

3. % Pl Rieq

4. ARGH

Question Number : 79 Question Id : 5406266914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a cause of accidents?
Options :

1. ¥ Road safety awareness publicity programs

2. # Lack of highway safety

3. # Drunken driving

4. % Rash driving

Question Number : 79 Question Id : 5406266914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
298 I P T eI &1 IS HRU el 72
Options :

1. ¢ Jgh YT SR b dl YR BRI




2. % ST YRET BT ST
3. % R b YUId H SIS B
4. % 3YTYY SIfAT DA

Question Number : 80 Question Id : 5406266915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yellow or fluorescent yellow-green road signs warn drivers that they are entering a zone.
Options :

1. ¥ school

2. # industry

3. # market

4. % domestic

Question Number : 80 Question Id : 5406266915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

didl a1 TR Uiel-8X T & S Hobd SIaR! Bl Tdd bR g 1 d AT YIRT PR G |
Options :

1. ¥

2. % IR

3. % dlViR

4. % O

Arithmetic Abilityl

Group Number : 5
Group Id : 540626216
Group Maximum Duration : 0
Group Minimum Duration : 0

Show Attended Group? : No



Edit Attended Group? : No

Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetical and Numerical ability1

Section Id : 540626295
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 540626342
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 5406266916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

2-[6—{3+(-4+5+1)x8}+12]=7?

Options :
1. %1
2.% 2
3.3
4. % 4

Question Number : 81 Question Id : 5406266916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAEfeRad U & U fore (2) & I TR S I1HM ST 18w

2-[6-{3+(-4+5+1)x8}+12]=7
Options :

1. %1

2. % 2

3.3

4. % 4

Question Number : 82 Question Id : 5406266917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

V3596x 52.034="?
Options :
1. % 3180
2. % 3200
3. ¥ 3120
4. % 3210

Question Number : 82 Question Id : 5406266917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEfeRad U & uxare fore (2) & I R S I1HMH AT AW

V3596x 52.034="7?
Options :

1. * 3180
2. % 3200



3. ¥ 3120
4. % 3210

Question Number : 83 Question Id : 5406266918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?

1252 x 2% + 35000 = (?)?
Options :
1. % 200
2. % 400
3. % 1600
4. % 800

Question Number : 83 Question Id : 5406266918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAfeRad U & usarEs o (2) & R R S I1 UM ST 18w

1252 x 2% 4+ 35000 = (7)?
Options :
1. % 200
2. % 400
3. % 1600
4. % 800

Question Number : 84 Question Id : 5406266919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What should come in place of the question mark (?) in the following question?



a3l 7 11

9261 21

Options :
1. % 121
2. % 1331
3. % 14641
4. % 2662

Question Number : 84 Question Id : 5406266919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefafad uza & usars [ (2) & RIM R S 91 714 {41 91 ?

a3l 7 11

9261 21

Options :
1. % 121
2. % 1331
3. % 14641
4. % 2662

Question Number : 85 Question Id : 5406266920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
2 i 2 14
Simplify: 7 Ofﬁ of 304="

Options :
1. ® 75
2. ¥ 64
3. % 46



4. %= 78

Question Number : 85 Question Id : 5406266920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
N 14 2
T HY: 304 FT — HT - =2

Options :
1. % 75
2. ¥ 64
3. % 46
4. % 78

Question Number : 86 Question Id : 5406266921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

L.C.M. of two numbers is 12 time their H.C.F. The sum of H.C.F. and L.C.M. is 403. If one of the numbers is 124, then find the other.
Options :

1. ¥ 93

2. % 76

3. % 112

4. % 64

Question Number : 86 Question Id : 5406266921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&l Teameft 1 .9, 3 H.H. &1 12 TAT | | A.9. 3R .9, T IRTH 403 7| Al TRmshi T W T 124 8, Y gOR! ST J1d Hifod |
Options :

1. % 93

2. % 76

3. % 112



4. % 64

Question Number : 87 Question Id : 5406266922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HCF and LCM of two numbers are 21 and 4284 respectively. If one of the numbers lies between 200 and 300, then what will be the sum of two
numbers?

Options :
1. ¥ 609
2. % 735
3. % 483
4. = 567

Question Number : 87 Question Id : 5406266922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TReTell o 7.9, SR .9, SHHRE: 21 3R 4284 § | TG 37 SeATsll & A T 200 3R 300 & &9 &, Al A1 STl &1 ANTH T R
Options :

1. ¥ 609

2. % 735

3. % 483

4. = 567

Question Number : 88 Question Id : 5406266923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the smallest digit that should be replaced in place of P in the number 376P12, to make it divisible by 12?
Options :

1. %1

2.¥2

3.%0

4. %5



Question Number : 88 Question Id : 5406266923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

376P12 | P & RIM TR Yel BICT 3ich T §HT MY for 8 a5 12 Y fauTsg 81 9b 2
Options :

1. * 1

2.9 2

3.0

4. %5

Question Number : 89 Question Id : 5406266924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following numbers are divisible by 2, 5 and 9?
Options :

1. % 14900

2. % 91400

3. % 723450

4. % 215370

Question Number : 89 Question Id : 5406266924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fafafea § 4 oF @ g2, 5 8k 9 ¥ faursa g2
Options :

1. * 14900

2. % 91400

3. # 723450

4. % 215370

Question Number : 90 Question Id : 5406266925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a set of seven consecutive even numbers, the average of fourth and seventh even numbers are 223. Find the sum of all seven numbers.
Options :

1. * 1680

2. % 1540

3. % 1356

4. % 1484

Question Number : 90 Question Id : 5406266925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td it TH Tersll & Th JHg |, A1 3R 1dd I0 Wemsft &7 ofiad 223 § | 9yt I1d Semsif &1 3 I1d Sifod |
Options :

1. * 1680

2. % 1540

3. # 1356

4. % 1484

Question Number : 91 Question Id : 5406266926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The mean of x and 1/x is N, then find the mean of x2 and 1/x2 ?

Options :
1. 8 N2-2
2. ® N2
3. ¢ ON? - |
4. % 4N?2-2

Question Number : 91 Question Id : 5406266926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

x QT 1/x BTHAIA N g, Tl x2 T 1/x2 BT AT 1 BifoTg |
Options :

1. ¥ N2-2

2. % N?

3.¢2N% - |

4. % 4N2-2

Question Number : 92 Question Id : 5406266927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Successive discount of 40 percent, 20 percent and 10 percent is equivalent to a net discount of:
Options :

1. # 35 percent

2. # 46.8 percent

3. % 56.8 percent

4. % 43.2 percent

Question Number : 92 Question Id : 5406266927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR <1 Tt & ST Fe 40 UfA=rd, 20 UG 3R 10 UfIRd {5 Ue Thd @e & sRI6R 82
Options :

1. % 35 gfd=rd

2. % 46.8 Uld=Td

3. ¥ 56.8 Ufc=Id

4. % 432 gfa=rd

Question Number : 93 Question Id : 5406266928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Gagan’s present age in years is 2/5th of Shankar’s age. After few years, Gagan’s age will be half of Shankar’s age. By what percentage will
Shankar's age increase during this period?

Options :

1. % 15 percent
2. % 18 percent
3. # 24 percent
4. ¥ 20 percent

Question Number : 93 Question Id : 5406266928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR &1 aaHT 311, RIhR D1 TG BT 2/581 HFT (@ H) 81 TS a8 & d1G, TH DI W, T &1 U H1 31eft 81 wft| 39 31afyy & GRMA
iR B 3 foha- Ufa=Id d¢ STEei?

Options :

1. % 15 gfa=rd

2. % 13 Ufcrd

3. % 24 gfa=rd

4. ¥ 20 Ufa=rd

Question Number : 94 Question Id : 5406266929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 34.5 percent of a number is 338.1, then find 85 percent of the number.
Options :

1. ¥ 833

2. % 850

3. % 862.5

4, % 782.5

Question Number : 94 Question Id : 5406266929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



gfe, foreft Tvem &1 34.5 UfAwId 338.1 8, o T &1 85 UfA=Id I1d HifoE |
Options :

1. ¢ 833

2. % 850

3. % 862.5

4. % 7825

Question Number : 95 Question Id : 5406266930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of 125 percent of 25 percent of 807
Options :

1. % 50

2.9 25

3. %20

4. % 40

Question Number : 95 Question Id : 5406266930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
80 T 25 UFI=RI & 125 UTRIAd STAF FT G 2
Options :

1. ® 50

2.9 25

3. % 20

4. % 40

Question Number : 96 Question Id : 5406266931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dealer sells a chair for Rs. 2400, making a profit of 25 percent. He sells a table at a loss of 10 percent and on the whole makes neither profit nor
loss. What is the cost price of table?



Options :

1. % Rs. 5100
2. % Rs. 3600
3. # Rs. 5600
4. ¥ Rs. 4800

Question Number : 96 Question Id : 5406266931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS fdopdT 2400 TUT T TP Hu S9dl & IR 25 U1 & ATH HA § | I8 10 UFA=Id $I g1+ IR T Ol a1 ¢ AR AT Fag I el
AT T § 3R A 81 39 §1 8IciT ¢ | Tl &1 ANTd G T g 2

Options :

1. % 5100 30

2. % 3600 3T

3. % 5600 ¥UY

4. ¥ 4800 3T

Question Number : 97 Question Id : 5406266932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rakesh bought an old car at some price. He repaired and sold the car at 80 percent above the buying price. He got the profit of 25 percent. How
much percent of buying price did he spend on repairs?

Options :

1. # 32.5 percent
2. % 60 percent
3. % 44 percent
4. % 55 percent

Question Number : 97 Question Id : 5406266932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5T A T AT FIHT R Th R BR TR ST SR B FRET DT 3R TS 7T T F 80 YA 31 Hei IR R &I 99 faar |




Y 25 UFARId BT AY G3HT| IR TR 39 WRIG T T HT fbaH1 Uia=rd W fbarn
Options :

1. ® 32.5 gfa=rd

2. % 60 Ufc=rd

3. ¢ 44 YfaId

4. % 559fqerd

Question Number : 98 Question Id : 5406266933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A table was sold at Rs. 600 and hence the numerically profit percentage is same as the cost price. Find the cost price of the table.
Options :

1. ¥ Rs. 200

2. # Rs. 300

3. ¥ Rs. 350

4. % Rs. 400

Question Number : 98 Question Id : 5406266933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP Al &Y 600 TYY T 7 747 3R 3 UHR WATHS U F UA=Id a1, H0 Hed & SR16R TdT 77| Bl &1 968 Yed J1d DI |
Options :

1. ¢ 200 30
2. % 300909
3. % 350 %09
4. % 400 39Y

Question Number : 99 Question Id : 5406266934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the total 390 students studying in a college of arts and science, boys and girls are in the ratio of 7 : 6 respectively and the number of
students studying arts and science are in the ratio of 3 : 7 respectively. The boys and the girls studying arts are in the ratio 4 : 5 respectively. How



many boys are studying science?
Options :

1. % 52

2. % 65

3. % 115

4.9 158

Question Number : 99 Question Id : 5406266934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el 3R faF & Picrel B UgH aTal d 390 B! H W HH: TS AR TSfhai 7: 6 & UId & § dUT Bl 3R faH UgH a1dt ST &t
TGN A 3 : 7 U T & | BTl BT ALY B TSl b AR AS[HT HH: 4 - 5 b U & &1 fpa) T AT Ug R & 2
Options :

1. % 52

2. % 65

3. % 115

4.9 158

Question Number : 100 Question Id : 5406266935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four milkmen rented a pasture. A grazed 18 cows for 4 months, B 25 cows for 2 months, C 28 cows of 5 months and D 21 cows for 3 months. If
A’s share of rent is Rs. 1800, then what is the total rent of the field (in rupees)?

Options :
1. % 1500
2. % 1775
3. ¥ 8125
4. % 1650

Question Number : 100 Question Id : 5406266935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IR 1Tl 3 Uh IRTTIE fhru UR ferdn| A = 4 AgH & forw 18 7, B 2 A & forw 25 A, ¢ A 5 He & folw 28 MRAF IR DA 3 AR &
forg 21 T Y TR | TfS A BT BT 1800 T &, A &F BT e fbr (Fudt 7 - 82

Options :
1. % 1500
2. % 1775
3.9 8125
4. % 1650
Arithmetic Ability2

Group Number : 6
Group Id : 540626217
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No

Arithmetical and Numerical ability2
Section Id : 540626296
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1

Sub-Section Id : 540626343



Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 5406266936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The present age of Ram and Shyam are 18 and 26 years respectively. If after 'x' years the ratio of their age will be 4 : 5, then what is the value of
'X'?

Options :

1. % 12 years
2. ¥ 14 years
3. % 15 years
4. % 16 years

Question Number : 101 Question Id : 5406266936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3R TGTH Pt ITHM TG HH: 18 TY 3R 26 8 51 A x' T F1E ITB! AT BT U 4 : 5 B Sl 8, Al 'x' BT A T 82
Options :

1. % 1299

2.4 1479

3. % 1599

4. % 1699

Question Number : 102 Question Id : 5406266937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The compound interest on a certain sum for 2 years at 12.5 percent p.a. compounded annually is Rs. 956.25. What will be the simple interest on
the same sum for double the time at half the rate of interest?

Options :

1. * Rs. 750
2. % Rs. 850
3. ¥ Rs. 900



4. % Rs. 800

Question Number : 102 Question Id : 5406266937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 g9 & fore wes FAfda IR &R 12,5 Ufa=ra ufay aifiies oM & ahgfs &9 956.25 0T 8 | THM AR TR 1 BT 31eft &R WA
THY o fo1T ATYRUT TS T G2
Options :

1. % 750 &0
2. % 850 ®UY
3. ¥ 900 &UY
4. % 800 TUY

Question Number : 103 Question Id : 5406266938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An amount of Rs. 2175 is lent for 8 months at a fixed rate of simple interest and another amount of Rs. 725 is lent for 4 months at thrice rate of
interest given on the first amount and a total of Rs. 282.75 is being earned as interest. At what interest rate was the first amount lent?

Options :

1. ¥ 13 percent
2. % 10 percent
3. % 12.5 percent
4. % 15 percent

Question Number : 103 Question Id : 5406266938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR TS D1 T T X TR 2175 U B R 8 A o (oY SYR &1 ST § SR 725 T0T B Uh Gas 13T, Tgan iR R T Y
TS &R & o T &R U 4 AR o o SUR € St & 3R Hot 282.75 S0 SIS HHTAT STl § | gt IR & forg &1 &R IR SR faa
T Y12

Options :

1. ¢ 13 Ufawrd




2. % 10 Ufawrd
3. % 12,5 gfderd
4. % 15 Yfaed

Question Number : 104 Question Id : 5406266939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum fetched a total simple interest of Rs. 1200 at the rate of 7.5 percent per year in 4 years. What is the sum (in Rs.)?
Options :

1. ¥ 4000

2. % 6000

3. % 8000

4. % 7500

Question Number : 104 Question Id : 5406266939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AR W 4 a8 H 7.5 ufarwrd ufa 99 &1 g3 F 1200 TTD BT JIHRUT AT U fodT 77| 98 I (0 &) |1 82
Options :

1. % 4000

2. % 6000

3. % 8000

4. % 7500

Question Number : 105 Question Id : 5406266940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Veeru and Dheeru run a 6 km race on a round race course of 400 m. If their speeds are in the ratio of 5 : 4, how often does the Veeru cross the
Dheeru?

Options :
1. # 4 times

2. % 5 times



3. % 2 times
4. % 3 times

Question Number : 105 Question Id : 5406266940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

aﬁﬁagviﬂ??frmoﬁia%qmw I8 & A H ¢ fortft o1 Sls e | afg IS 1 5 : 4 & U B &, @t dR= fha-! IR 9 S IR
Hdl 8?

Options :

1. % 48R

2. % 5ER

3. % 28R

4. ¥ 39R

Question Number : 106 Question Id : 5406266941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sunil can row in still water with a speed of 6 km/h. If the speed of current is 1.2 km/h, he takes 1 hour to go to a certain place and come back.
How far is that place?

Options :

1. ¥ 2.88 km
2. % 356 km
3. % 1.44 km
4. % 9.6 km

Question Number : 106 Question Id : 5406266941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g FRR U H 6 forwt/amer o1 1fd I Ok Iehar § | afe YRT 1 71 1.2 fai/auer 8 @ 98 Ue Migd R & IH sk S A $d 1 8¢
1 JHI AT & | I8 R fbat gR Rua g2

Options :

1. ¢ 2.88 el



2. % 356 fopdl
3. % 144 fhel
4. % 9.6 fpet

Question Number : 107 Question Id : 5406266942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A train 150 metres long running at a speed of 60 km/hour takes 30 seconds to cross a bridge. What is the length of the bridge?
Options :

1. ¥ 350 m

2. % 450 m

3. % 300 m

4, % 400 m

Question Number : 107 Question Id : 5406266942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 150 Hex T XerTe! 60 fohamiex/ee &t T1fd I IR U Jd &l 30 Yohe H IR &xall ¢ | Jd B avalTs a1 82
Options :

1. ¢ 350 TR

2. % 450 HIcR

3. % 300 HicY

4. % 400 Hicx

Question Number : 108 Question Id : 5406266943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man covers 36 km at 12 km/hr, 16 km at 8 km/h and 60 km at 15 km/hr, then find the average speed in covering the whole distance.
Options :

1. # 12.24 km/hr

2. % 12.44 km/hr



3. #* 13.34 km/hr
4, % 14.44 km/hr

Question Number : 108 Question Id : 5406266943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fad 36 fotft ot gt 12 forrt/ee, 16 forht oot gt 8 fareft/eie SR 60 foret Bt g3t 15 fpefi/ae o) 1fa O o Fvan B, STt siigd 7ifd
EIREIIEIY

Options :

1. % 12.24 fhHi/er
2. ¥ 12.44 fHHi/Ee
3. % 13.34 fpdi/Ea
4. % 14.44 fHUl/ger

Question Number : 109 Question Id : 5406266944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Nipul starts working on a job and works on it for 16 days and completes 40 percent of the work. After that, he employs Ravi and together they
work for another 16 days and the work gets completed. Nipul is how much more efficient than Ravi?

Options :

1. % 100 percent
2. % 50 percent
3. % 150 percent
4. % 200 percent

Question Number : 109 Question Id : 5406266944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YA T HIH BT L= BT § IR 16 [ BRI Hd §U I DI BT 40 TS HIT T BT 6 | SUD §1G, 98 I1d DI Fgad HRal § 3R
A H T 3R 16 737 B B § 3R B R AT & ﬁga,vﬁﬁmm&mw%m%?
Options :

1. ¢ 100 Ufa<d




2. % 50 gfard
3. % 150 gfaerd
4. % 200 Ufa=d

Question Number : 110 Question Id : 5406266945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 men and 3 boys can do a piece of work in 10 days while 3 men and 2 boys can finish it in 8 days. In how many days 2 men and 1 boy will
finish the work?

Options :

1. # 13.5 day
2. % 13 day
3. % 12.5 day
4. % 14 day

Question Number : 110 Question Id : 5406266945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2 JTEH TUT 3 AP FHAH fHeft w10 BT 10 fo7 H R HR Yhd § STafhs 3 SATEH U7 2 TSP S8 FH b1 8 AT W aR Thd 512
3T aUT | TSoh! FHaHR 39 &1 & fhdn 3T & 1 = urEi?

Options :

1. % 135f&q

2. % 13faF

3.¢ 12.5fe

4. % 14fa7

Question Number : 111 Question Id : 5406266946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a work in 24 days and B in 40 days. If they work on it together for 10 days, then what fraction of work is left?
Options :

1. % 12



2.¥1/3
3. % 2/3
4. %= 3/4

Question Number : 111 Question Id : 5406266946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gwmﬁmﬁ——ﬁﬁeﬁm, 40 f&1 & T R T 81 3fS 9 U A1 Fdax 10 &1 0% H1H $HRd 8, N B &1 fbd=1 YT AN Sl
(')

Options :
1. % 172
2.¥1/3
3. % 2/3
4. % 3/4

Question Number : 112 Question Id : 5406266947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four equal maximum sized circular papers are cut off from a square paper sheet of area 3136 sq. cm. What is the area of remaining sheet of
paper?

Options :

1. # 708 sq. cm

2. % 942 sq. cm

3.9 672 sq. cm

4. % 760 sq. cm

Question Number : 112 Question Id : 5406266947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR JAM B dH TBR Bt MATBR BRI , 3136 T A D TBR BNTST Dt Vi T BIe &l Sildl & | BITT ot AY 2fie BT &7hd 1 82
Options :

1. % 708 97f I



2. % 942 T At
3. ¢ 672 1 At
4. % 760 971 I

Question Number : 113 Question Id : 5406266948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cube of 6 cm side is cut into cubes of 2 cm side. What is the ratio of the total surface area of the larger cube to that of the sum of the total
surface areas of the smaller cubes?

Options :
1.%1:6
2.9 1:3
3.% 1:4
4. % 1:9

Question Number : 113 Question Id : 5406266948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
6®I§W$wwﬁzﬁw%ﬁﬁwﬁmw%lﬁw$@m a8 &Fhd &1 BIc U1 & Hd ddg &b dl o AN 3UTd
R

Options :
l.*1:6
2.9 1:3
3.%1:4
4. % 1:9

Question Number : 114 Question Id : 5406266949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The area of an equilateral triangle is 4413 sq cm. Find its perimeter.
Options :

1. ®* 216 cm



2. % 124 cm
3. % 132cm
4. % 126 cm

Question Number : 114 Question Id : 5406266949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ueh GHETG IS BT &t 4413 a7 I 8 | SHbT URATY H1d BT
Options :

1. % 216 94!

2. % 12490

3. % 1329

4.9 126 941

Question Number : 115 Question Id : 5406266950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A survey of novel reading habits of the people of five cities A, B, C, D, E is given below. The column I in the table represents percentage of

novel readers in each city who read only one novel in a week. The column II gives the total number of novel readers who read two or more
novels in a week. Read the table and answer the following question.

City | 1| I
A | 55| 4500
B | 45| 3300
c | 70| 3900
D | 40 | 4800
E | 822700

Which city has the highest number of novel reader who read only one novel a week?



Options :
1.* D
2. % C
3. ¥E
4. % B

Question Number : 115 Question Id : 5406266950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

4 feu MU Ui wERF A, B, C, D, E H @1l Bl ST UgH &1 3MTed! P Tdh JI&UT B ST 71 8 | dTferedT H piad [ T e A SUT
TS| & U< &I ST § off U W8 H $Had U ST Ugd & | HIaH 11 ST US| B Hol U B! a=idl & Sl Th I8 | al
11 T 3P IUUTT Ugd g | dTfeichT BT 3(eua 3 3R F=feriRad Uz &1 Ik Sifore|

et | I II
A | 554500
B |45 3300
C | 70| 3900
D | 40 | 4800
E | 82| 2700

TTE § $Had U IUUTH UgH dTdl T ! ot T fob g e A Iad 31 § 2
Options :

I.%D

2. % C

3.¥E

4. % B

Question Number : 116 Question Id : 5406266951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
A survey of novel reading habits of the people of five cities A, B, C, D, E is given below. The column I in the table represents percentage of

novel readers in each city who read only one novel in a week. The column II gives the total number of novel readers who read two or more
novels in a week. Read the table and answer the following question:

City | I | T
A |55 4500
B | 45| 3300
c | 701 3900
D |40/ 4800
E | 822700

The highest number of novel readers in any given city is:
Options :

1. * 13000

2. % 10000

3. % 25000

4.+ 15000

Question Number : 116 Question Id : 5406266951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= fRe U g WeRT A, B, C, D, E H ANl & U UGH o1 3MTed] & U JA&ul H1 G=ITaT 107 g | diferesT & HiaH [ Ydd e § SuUrg
TT6h! & UIIRId DI ST & ol U Tg H Had U U Ugd & | HIaH 11 ST UISHh! & $d AT Bl G-idl g Sl U Iwie | af
1 Y 31 IUATH Ugd g | aifernT T 3 o 3R FferiRad U= &1 Ik il




et | 1 It
A | 35| 4500
B | 45| 3300
C | 70| 3900
D | 40 | 4800
E | 82| 2700

fau T foadt +ft weR & Su=T ure ! @ SiftiemdH Tt fhant 82
Options :

1. % 13000

2. % 10000

3. % 25000

4. ¥ 15000

Question Number : 117 Question Id : 5406266952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A survey of novel reading habits of the people of five cities A, B, C, D, E is given below. The column I in the table represents percentage of
novel readers in each city who read only one novel in a week. The column II gives the total number of novel readers who read two or more
novels in a week. Read the table and answer the following question:



City | 1| I
A | 55| 4500
B | 45| 3300
c | 70| 3900
D | 40 | 4800
E | 8212700

How many novel reader in the city C read only one novel a week?
Options :

1. ¥ 9100

2. % 9000

3. % 8800

4. % 9200

Question Number : 117 Question Id : 5406266952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F= e i TERF A, B, €, D, E T A & IUIN UgH Bt e & U Fd&uT P S=ITaT 11 g | drferenT & Hiad [ Tdd e § Iuay
TI3H| & Ua=Id ! ST & off U T H had T ST Ugd & | BIaH [ ST UISH! &1 Hol TAT BI ¢=1idT § ol Uh Iiie | af
11 T 3P IUITT Ugd g | dTfeIohT T 37T B3 3R FHeriRad Uz &1 Ik Sifore|




grex| I | I
A |55 4500
B | 453300
C |70 | 3900
D | 40 | 4800
E | 822700

18R C H fhd U UTosh! 1 T I&Te H »ad U IU-ar Ugn
Options :
1. 9100
2. % 9000
3. % 8800
4. % 9200

Question Number : 118 Question Id : 5406266953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Answer the question based on the information given below.

The line graph given below shows the distribution of the number of candidates who appeared for interview in five different competitive
examinations.
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Number of male candidates who appeared for interview in IBPS are what percent less/more than the number of male candidates who appeared for
interview in SSC?

Options :

1. # 5 percent
2. ¥ 10 percent
3. ® 15 percent
4. % 20 percent

Question Number : 118 Question Id : 5406266953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & TS SMBR & 3MYR TR UY BT IR S|
i fear ar o Ui srenT ufaanlt uktensi & GreneeR & foru Sufud 811 ard SFGaR] & YT & fIdRUI &I gxIial g
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Iufiear) &t T ¥ fha-n ufawrd wa/3fis 82

Options :

1. % 5 yfaerd

2. ¢ 10 gfa=rd

3. % 15 gfaerd

4. % 20 yfc=rd

Question Number : 119 Question Id : 5406266954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Answer the question based on the information given below.

The line graph given below shows the distribution of the number of candidates who appeared for interview in five different competitive
examinations.
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What is the ratio of the number of male candidates who appeared for interview in GATE and IBPS together to the number of female candidates
appeared for interview in PCS and SSC together?

Options :
1. % 3.7
2.¥13:20
3. % 8:19
4. % 3:5

Question Number : 119 Question Id : 5406266954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & TS SMBR & 3MYR TR UY BT IR S|
i fear ar o Ui srenT ufaanlt uktensi & GreneeR & foru Sufud 811 ard SFGaR] & YT & fIdRUI &I gxIial g
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Options :
1. % 3.7
2.¥13:20
3. % 8:19
4. % 3:5

Question Number : 120 Question Id : 5406266955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Answer the question based on the information given below.

The line graph given below shows the distribution of the number of candidates who appeared for interview in five different competitive
examinations.
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What is the difference between the total number of females who appeared for interview in SSC and IBPS together, and total number of males
who appeared for interview in UPSC and GATE together?

Options :
1. % 50
2.9 55
3. % 60
4. % 65

Question Number : 120 Question Id : 5406266955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I & 1S TR B MYR TR UY BT IR o]
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Options :
1. % 50
2.¥ 55
3. % 60
4. % 65
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Question Number : 121 Question Id : 5406266956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Winter storms normal bring ordinary rain, freezing rain, sleet as well as snow.
Options :

1. ¥ Winter storms normal

2. * bring ordinary rain, freezing rain,

3. * sleet as well as snow.

4. % No error

Question Number : 121 Question Id : 5406266956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.



Winter storms normal bring ordinary rain, freezing rain, sleet as well as snow.
Options :

1. ¥ Winter storms normal

2. % bring ordinary rain, freezing rain,

3. # sleet as well as snow.

4. % No error

Question Number : 122 Question Id : 5406266957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

She spins around like a little girl with her tongue stick out to catch the drops.
Options :

1. # She spins around like a

2. #* little girl with her tongue

3. % stick out to catch the drops.

4. % No error

Question Number : 122 Question Id : 5406266957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

She spins around like a little girl with her tongue stick out to catch the drops.
Options :

1. % She spins around like a

2. % little girl with her tongue

3. % stick out to catch the drops.

4. % No error



Question Number : 123 Question Id : 5406266958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

They swim under water by propelling themself with their wings.
Options :

1. % They swim under water

2. ¥ by propelling themself

3. ¥ with their wings.

4. % No error

Question Number : 123 Question Id : 5406266958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

They swim under water by propelling themself with their wings.
Options :

1. % They swim under water

2. ¥ by propelling themself

3. ® with their wings.

4. % No error

Question Number : 124 Question Id : 5406266959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The few articles of furniture included a narrow bed, a chair, and desk in one corner.



Options :

1. # The few articles of furniture

2. * included a narrow bed, a chair,
3. % and desk in one corner.

4. % No error

Question Number : 124 Question Id : 5406266959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The few articles of furniture included a narrow bed, a chair, and desk in one corner.
Options :

1. # The few articles of furniture

2. #* included a narrow bed, a chair,

3. % and desk in one corner.

4. % No error

Question Number : 125 Question Id : 5406266960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Many organizations still exist and trying to function despite a general lack of funds.
Options :

1. ¥ try to function

2. % trying to functioning

3. % tried to function

4. # No improvement

Question Number : 125 Question Id : 5406266960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Many organizations still exist and trying to function despite a general lack of funds.
Options :

1. ¥ try to function

2. # trying to functioning

3. # tried to function

4. ¥ No improvement

Question Number : 126 Question Id : 5406266961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Book cover design have improve drastically since the middle of the last decade.
Options :

1. * have improved drastically
2. % has improved drastically
3. ¥ has improve drastic

4. % No improvement

Question Number : 126 Question Id : 5406266961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Book cover design have improve drastically since the middle of the last decade.
Options :

1. # have improved drastically



2. % has improved drastically
3. #* has improve drastic

4. # No improvement

Question Number : 127 Question Id : 5406266962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

A number of changes has been made in an effort to reduce the problems experienced in the past.

Options :

1. % A number of change have

2. % The numbers of change have
3. ¥ A number of changes have

4. ¥ No improvement

Question Number : 127 Question Id : 5406266962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

A number of changes has been made in an effort to reduce the problems experienced in the past.

Options :

1. # A number of change have

2. # The numbers of change have
3. % A number of changes have

4. ¥ No improvement

Question Number : 128 Question Id : 5406266963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Dieters often cut back on protein in an effort to reduce calories and lose weight.
Options :

1. #* cuts back on protein

2. % cutting back in protein

3. # cut backing in protein

4. ¥ No improvement

Question Number : 128 Question Id : 5406266963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to substitute it, select ‘No
improvement’.

Dieters often cut back on protein in an effort to reduce calories and lose weight.
Options :

1. # cuts back on protein
2. # cutting back in protein
3. % cut backing in protein

4. ¥ No improvement

Question Number : 129 Question Id : 5406266964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Females lay eggs in other birds' nests and the rearing to other species.
Options :

1. ¥ leave

2. % leaving

3. % left

4. # is leaving



Question Number : 129 Question Id : 5406266964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Females lay eggs in other birds' nests and the rearing to other species.
Options :

1. ¥ leave

2. % leaving

3. % left

4. # is leaving

Question Number : 130 Question Id : 5406266965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The black back of the bird separated the two wings from
Options :

1. * other

2. % each other

3. * another

4. *# one another

Question Number : 130 Question Id : 5406266965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The black back of the bird separated the two wings from
Options :

1. # other



2. % each other
3. # another

4. * one another

Question Number : 131 Question Id : 5406266966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

We saw each other again at the finish line and the amputee introduced as Jim Boney.
Options :

1. # itself

2. # herself

3. % himself

4. % themselves

Question Number : 131 Question Id : 5406266966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

We saw each other again at the finish line and the amputee introduced as Jim Boney.
Options :

1. # itself

2. % herself

3. ¥ himself

4. % themselves

Question Number : 132 Question Id : 5406266967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.



The new institute is independent body to register and administer teaching profession across all school sectors in the state.
Options :

1. ¥ an, the

2. % a, the

3. # the, the

4. #® No article needed

Question Number : 132 Question Id : 5406266967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blanks.

The new institute is independent body to register and administer teaching profession across all school sectors in the state.
Options :

1. ¥ an, the

2. % a, the

3. # the, the

4. % No article needed

Question Number : 133 Question Id : 5406266968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Our politicians have plundered the system for long that corruption is now a part of life.
Options :

1. ¥ so

2. # very

3. * much

4. ® many

Question Number : 133 Question Id : 5406266968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Our politicians have plundered the system for long that corruption is now a part of life.
Options :

1. ¥ so

2. # very

3. ¥ much

4. ¥ many

Question Number : 134 Question Id : 5406266969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The fact on which he now relies is that he stole, he did not in fact threaten violence.
Options :

1. # but

2. ¥ though

3. % because

4, % as

Question Number : 134 Question Id : 5406266969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The fact on which he now relies is that he stole, he did not in fact threaten violence.
Options :

1. # but

2. ¥ though

3. ¥ because

4. % as



Question Number : 135 Question Id : 5406266970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A: to prevent the COVID — 19 infections

B: Coronavirus advisory, the universities have
C: started taking precautions

D: after the Centre issued

Options :

1. ¥ DBCA
2. % DCAB
3. % DABC
4. % DBAC

Question Number : 135 Question Id : 5406266970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A: to prevent the COVID — 19 infections

B: Coronavirus advisory, the universities have
C: started taking precautions

D: after the Centre issued

Options :

1. ¥ DBCA
2. % DCAB
3. % DABC
4. % DBAC

Question Number : 136 Question Id : 5406266971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A: a national conference and award ceremony

B: Delhi by Sri Aurobindo Society and HDFC Bank to recognize

C: was organized recently at Dogra Hall- Indian Institute of Technology,
D: the effective grassroots innovations in teaching

Options :

1. ¥ ABCD
2. ¥ ACBD
3. ¥ ABDC
4. % ADCB

Question Number : 136 Question Id : 5406266971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Parts of a sentence have been jumbled up. Arrange these parts in a meaningful order.

A: a national conference and award ceremony

B: Delhi by Sri Aurobindo Society and HDFC Bank to recognize

C: was organized recently at Dogra Hall- Indian Institute of Technology,
D: the effective grassroots innovations in teaching

Options :

1. ¥ ABCD
2. ¥ ACBD
3. ¥ ABDC
4. % ADCB

Question Number : 137 Question Id : 5406266972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A: saints are conduits through whom the divine power reveals itself
B: she has direct vision of God



C: saints are an integral part of all religions
D: a saint is one who has eliminated her base passions by diligent worship and by her altruistic deeds

Options :

1. # CDBA
2. % CBDA
3. ¥ CADB
4. ¥ CABD

Question Number : 137 Question Id : 5406266972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A: saints are conduits through whom the divine power reveals itself

B: she has direct vision of God

C: saints are an integral part of all religions

D: a saint is one who has eliminated her base passions by diligent worship and by her altruistic deeds

Options :

1. # CDBA
2. % CBDA
3. ¥ CADB
4. ¥ CABD

Question Number : 138 Question Id : 5406266973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A: yet a closer look at the interconnected world might show the opposite

B: it calls to mind Mark Twain’s quip about the reports of his death being “greatly exaggerated”

C: with trade, travel, and economic growth retreating at a furious pace, such dire predictions may sound truer than ever
D: globalisation has been pronounced dead so many times

Options :

1. # DCAB



2. ®* DABC
3. ¥ DBAC
4. ¥ DBCA

Question Number : 138 Question Id : 5406266973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the jumbled sentences to make a meaningful paragraph.

A: yet a closer look at the interconnected world might show the opposite

B: it calls to mind Mark Twain’s quip about the reports of his death being “greatly exaggerated”

C: with trade, travel, and economic growth retreating at a furious pace, such dire predictions may sound truer than ever
D: globalisation has been pronounced dead so many times

Options :

1. % DCAB
2. % DABC
3. ¥ DBAC
4. ¥ DBCA

Question Number : 139 Question Id : 5406266974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Candid

Options :

1. ¥ Straightforward
2. # Special

3. % Serene

4. % Severe

Question Number : 139 Question Id : 5406266974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Candid

Options :

1. ¥ Straightforward
2. # Special

3. % Serene

4. # Severe

Question Number : 140 Question Id : 5406266975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Scanty

Options :

1. # Basic

2. ¥ Insufficient
3. % Ample

4. #* Plentiful

Question Number : 140 Question Id : 5406266975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate synonym of the given word.

Scanty

Options :

1. # Basic

2. ¥ Insufficient
3. % Ample

4. % Plentiful
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Question Number : 141 Question Id : 5406266976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.



I am feeling numb from the top of my head to the aching of my foot. God's plan is revealed by faith and shows us that humans have an
immortal

Options :

1. # soul; sole
2. % sole; sole
3. ¥ sole; soul

4. # soul; soul

Question Number : 141 Question Id : 5406266976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct pair of homophones to fill in the blanks.

I am feeling numb from the top of my head to the aching of my foot. God's plan is revealed by faith and shows us that humans have an
immortal

Options :

1. # soul; sole
2. # sole; sole
3. ¥ sole; soul

4. # soul; soul

Question Number : 142 Question Id : 5406266977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Insipid

Options :

1. # Pathetic

2. # Flavorless

3. % Commonplace
4. ¢ Delicious



Question Number : 142 Question Id : 5406266977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Insipid

Options :

1. # Pathetic

2. # Flavorless

3. % Commonplace
4. ¥ Delicious

Question Number : 143 Question Id : 5406266978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Unsettled
Options :

1. ¥ Composed
2. % Immune
3. % Anxious
4. #® Aimless

Question Number : 143 Question Id : 5406266978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

Unsettled
Options :
1. ¥ Composed

2. % Immune



3. % Anxious
4. % Aimless

Question Number : 144 Question Id : 5406266979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Plusible

2. % Furious

3. # Tragic

4. ® Lavish

Question Number : 144 Question Id : 5406266979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Plusible

2. ® Furious

3. ® Tragic

4. # Lavish

Question Number : 145 Question Id : 5406266980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Probable

2. * Indifferent

3. # Gracious

4. ¥ Dissappear



Question Number : 145 Question Id
Orientation : Vertical

: 5406266980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Select the incorrectly spelt word.
Options :

1. % Probable

2. # Indifferent

3. # Gracious

4. ¥ Dissappear

Question Number : 146 Question Id
Orientation : Vertical

: 5406266981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Select the incorrectly spelt word.
Options :

1. # Nimble

2. # Prosaic

3. % Torpide

4. % Historical

Question Number : 146 Question Id
Orientation : Vertical

: 5406266981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25

Select the incorrectly spelt word.
Options :

1. #* Nimble

2. % Prosaic

3. ¢ Torpide

4. % Historical

Question Number : 147 Question Id

: 5406266982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Indecent

2. % Inflammable

3. % Encyclopedia

4. ¥ Preacheble

Question Number : 147 Question Id : 5406266982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. # Indecent

2. # Inflammable

3. # Encyclopedia

4. ¥ Preacheble

Question Number : 148 Question Id : 5406266983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the incorrectly spelt word.
Options :

1. ¥ Satisfactary

2. # Elegance

3. % Laconic

4. ® Impressive

Question Number : 148 Question Id : 5406266983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the incorrectly spelt word.
Options :

1. ¥ Satisfactary

2. # Elegance

3. # Laconic

4. ¥ Impressive

Question Number : 149 Question Id : 5406266984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

It will be a cold day in Hell when I let you borrow my car.

Options :

1. ¥ An impossible event
2. # To be very cold

3. # A celebration

4. ¥ A gathering

Question Number : 149 Question Id : 5406266984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

It will be a cold day in Hell when I let you borrow my car.
Options :

1. ¥ An impossible event

2. % To be very cold

3. # A celebration

4. % A gathering

Question Number : 150 Question Id : 5406266985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I'm a nurse, so if [ make a mistake at my job, it's a matter of life and death.

Options :

1. % Unimportant
2. ¥ Gravely serious
3. % Lacking value
4. ¥ Without sense

Question Number : 150 Question Id : 5406266985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

I'm a nurse, so if [ make a mistake at my job, it's a matter of life and death.

Options :

1. # Unimportant
2. ¥ Gravely serious
3. % Lacking value
4. # Without sense

Question Number : 151 Question Id : 5406266986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Don't beat around the bush—just tell me the truth.
Options :

1. # To be direct in approach
2. % Without fear

3. ¥ To speak vaguely

4. % To be fair



Question Number : 151 Question Id : 5406266986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

Don't beat around the bush—just tell me the truth.
Options :

1. # To be direct in approach
2. % Without fear

3. ¥ To speak vaguely

4. % To be fair

Question Number : 152 Question Id : 5406266987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

There are as many who want the church to maintain its traditional values as there are those who think it must keep in tune with the times.

Options :

1. * Lacking support
2. * TIrreversible

3. ¥ Orthodox

4. ¥ Contemporary

Question Number : 152 Question Id : 5406266987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

There are as many who want the church to maintain its traditional values as there are those who think it must keep in tune with the times.

Options :
1. # Lacking support



2. # Irreversible
3. % Orthodox
4. ¥ Contemporary

Question Number : 153 Question Id : 5406266988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

My gut instinct about Kara's new boyfriend proved correct when we discovered he had a pretty extensive criminal history.
Options :

1. ¥ An intuition

2. % Logical analysis

3. # Practical idea

4. % An unnatural event

Question Number : 153 Question Id : 5406266988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the underlined idiom in the given sentence.

My gut instinct about Kara's new boyfriend proved correct when we discovered he had a pretty extensive criminal history.
Options :

1. ¥ An intuition

2. # Logical analysis

3. # Practical idea

4. % An unnatural event

Question Number : 154 Question Id : 5406266989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.



A person who helps another commit a crime.
Options :

1. ¥ Accomplice

2. % Bureaucrat

3. # Plaintiff

4. % Absconder

Question Number : 154 Question Id : 5406266989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who helps another commit a crime.
Options :

1. ¥ Accomplice

2. % Bureaucrat

3. # Plaintiff

4. # Absconder

Question Number : 155 Question Id : 5406266990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who brings a case against another in a court of law.
Options :

1. * Senator

2. % Plaintiff

3. # Defendant

4. % Accused

Question Number : 155 Question Id : 5406266990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the word which means the same as the group of words given.

A person who brings a case against another in a court of law.
Options :

1. # Senator

2. ¥ Plaintiff

3. # Defendant

4. # Accused

Sub-Section Number : 2
Sub-Section Id : 540626346
Question Shuffling Allowed : Yes

Question Id : 5406266991 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage and answer the questions below.

The Louvre’s headline-making “Leonardo da Vinci” exhibition, which marked the 500th anniversary of the Renaissance master’s death, closed its
four-month run this week with a record-breaking figure: in total, 1,071,840 visitors traveled from around the world to marvel at the
unprecedented retrospective.

The outstanding attendance figures shattered the Louvre’s previous record of 540,000 visitors, which was established for an exhibition of Eugéne
Delacroix in 2018. Daily attendance numbers for the Leonardo show hovered at nearly 10,000 people. The figures were bolstered by the
museum’s addition of 46 evening openings, allowing visits to see the show until 10 p.m. Museum membership grew by over 10 percent over the
course of the exhibition.

“It’s wonderful that 500 years after his death, an Italian Renaissance artist continues to fascinate the general public so much,” Jean-Luc Martinez,
president and director of the Louvre museum, said in a statement.

“Today, I have two reasons for pride: the success of bringing together the greatest number of Leonardo’s works and in welcoming so many and
such diverse audiences.”

Highlights of the exhibition included five of the museum’s own paintings, including Saint Jean Baptiste, Virgin of the Rocks, and the Mona Lisa
(which remained in its usual location) along with four borrowed paintings: Benois Madonna, the La Scapiliata, St Jerome, and Portrait of a
Musician.

During the last three days of the exhibition, the demand was such that the museum kept its doors open for nearly 81 hours straight, offering free



admission, coffee, and madeleines. The red-eye strategy allowed an additional 30,000 visitors to see the show in its final days. But even then,
some art lovers were still shut out after the final timed tickets were snapped up in under three hours. Perhaps as a comfort to these disappointed
Leonardo fans, the Louvre has announced that it will be releasing a film focusing on the exhibition, titled A Night at the Louvre: Leonardo da
Vinci, later this year.

Sub questions

Question Number : 156 Question Id : 5406266992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The great renaissance artist "Leonardo da Vinci" was born in which country?
Options :

1. # France

2. % Ttaly

3. # Poland

4. % Hungary

Question Number : 157 Question Id : 5406266993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many visitors were there at the Louvre for an exhibition of Eugene Delacroix in 2018?
Options :

1. % 1,071,840

2. % 540,000

3. % 10,000

4. % 30,000

Question Number : 158 Question Id : 5406266994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the occasion behind The Louvre’s headline making “Leonardo da Vinci” exhibition?
Options :

1. ¥ It marked the 500th anniversary of Leonardo da Vinci’s death.

2. % Tt had the intention of bringing together a huge number of diverse audiences.



3. % It had the intention of satisfying the needs of the yellow-vest demonstrators.

4. % Tt had the intention of earning a huge revenue through the high amount of ticket fare.

Question Number : 159 Question Id : 5406266995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following paintings was borrowed by the Louvre for the exhibition?
Options :

1. % Virgin of the Rocks

2. % Portrait of a Musician

3. % Saint Jean Baptiste

4. % Mona Lisa

Question Number : 160 Question Id : 5406266996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For how many approximate straight hours had the museum kept its door open during the final three days of the exhibiton?
Options :

1. % 90 hours

2. % 81 hours

3. # 60 minutes

4. % 24 hours

Question Id : 5406266991 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (156 to 160)

Read the following passage and answer the questions below.

The Louvre’s headline-making “Leonardo da Vinci” exhibition, which marked the 500th anniversary of the Renaissance master’s death, closed its
four-month run this week with a record-breaking figure: in total, 1,071,840 visitors traveled from around the world to marvel at the
unprecedented retrospective.

The outstanding attendance figures shattered the Louvre’s previous record of 540,000 visitors, which was established for an exhibition of Eugéne
Delacroix in 2018. Daily attendance numbers for the Leonardo show hovered at nearly 10,000 people. The figures were bolstered by the



museum’s addition of 46 evening openings, allowing visits to see the show until 10 p.m. Museum membership grew by over 10 percent over the
course of the exhibition.

“It’s wonderful that 500 years after his death, an Italian Renaissance artist continues to fascinate the general public so much,” Jean-Luc Martinez,
president and director of the Louvre museum, said in a statement.

“Today, I have two reasons for pride: the success of bringing together the greatest number of Leonardo’s works and in welcoming so many and
such diverse audiences.”

Highlights of the exhibition included five of the museum’s own paintings, including Saint Jean Baptiste, Virgin of the Rocks, and the Mona Lisa
(which remained in its usual location) along with four borrowed paintings: Benois Madonna, the La Scapiliata, St Jerome, and Portrait of a
Musician.

During the last three days of the exhibition, the demand was such that the museum kept its doors open for nearly 81 hours straight, offering free
admission, coffee, and madeleines. The red-eye strategy allowed an additional 30,000 visitors to see the show in its final days. But even then,
some art lovers were still shut out after the final timed tickets were snapped up in under three hours. Perhaps as a comfort to these disappointed
Leonardo fans, the Louvre has announced that it will be releasing a film focusing on the exhibition, titled A Night at the Louvre: Leonardo da
Vincti, later this year.

Sub questions

Question Number : 156 Question Id : 5406266992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The great renaissance artist "Leonardo da Vinci" was born in which country?
Options :

1. * France

2. ¥ Ttaly

3. * Poland

4. % Hungary

Question Number : 157 Question Id : 5406266993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many visitors were there at the Louvre for an exhibition of Eugene Delacroix in 2018?
Options :

1. % 1,071,840

2. ¥ 540,000



3. ¥ 10,000
4. % 30,000

Question Number : 158 Question Id : 5406266994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What was the occasion behind The Louvre’s headline making “Leonardo da Vinci” exhibition?
Options :

1. ¢ It marked the 500th anniversary of Leonardo da Vinci’s death.

2. % It had the intention of bringing together a huge number of diverse audiences.

3. # It had the intention of satisfying the needs of the yellow-vest demonstrators.

4. # It had the intention of earning a huge revenue through the high amount of ticket fare.

Question Number : 159 Question Id : 5406266995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following paintings was borrowed by the Louvre for the exhibition?
Options :

1. # Virgin of the Rocks

2. ¥ Portrait of a Musician

3. # Saint Jean Baptiste

4. % Mona Lisa

Question Number : 160 Question Id : 5406266996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For how many approximate straight hours had the museum kept its door open during the final three days of the exhibiton?
Options :

1. # 90 hours

2. ¥ 81 hours

3. % 60 minutes

4. ® 24 hours
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Question Number : 161 Question Id : 5406266997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffaRad o O snenfde § oH-d 6 32

Options :



1.« UGy
2. % TG
3. % Y 9y
4. % 3g1fe IfY

Question Number : 161 Question Id : 5406266997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ffaRed o 9 snenfde § oH- w6 82
Options :

1. ¢ QUi iy

2. % TUT Y

3. % MY

4. % 3Ife WY

Question Number : 162 Question Id : 5406266998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRId o O D19-91 Teg "3 IUHH &1 TART R T51 S+ 7T 62
Options :

1. % 3ffddfa

2. ¢ 3HfAPpd

3. % Sfgfa

4. % IARR

Question Number : 162 Question Id : 5406266998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrfRId o O D19-91 Treg "3 IuGH &1 TART R 51 SR 1 62

Options :

1. % 3ffgfs



2. ¥ 3HigPpd
3. % oo

4. % IR

Question Number : 163 Question Id : 5406266999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=foRed & @ TuRH" § -9 e |2
Options :

1. % fg 9ury

2. % GG qA™

3. ¥ dJ=Y AN

4. % HHYRY FHY

Question Number : 163 Question Id : 5406266999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfRed & @ TogH" & $H-91 99 87
Options :

1. % g aary

2. % g qHN

3. ¥ d=Y JHY

4. % HUYRY JHNY

Question Number : 164 Question Id : 5406267000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1§ 9 T g BT =g BT
Options :

1. ¥ IS

2. % T0YUT



3. % T[0T
4. % g

Question Number : 164 Question Id : 5406267000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e H 9 oW Tsg 1 TG BT
Options :

1. ¥ IS

2. % 1Y[

3. ¥ [

4. % Tq

Question Number : 165 Question Id : 5406267001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfIRad & @ S1-971 Xeg Igara® I3 61 o7
Options :

1. % He&l

2. % 99

3. % el

4.« Qlal

Question Number : 165 Question Id : 5406267001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEAfARId T O D19-91 o Igarad 437 1o o7
Options :

1. # D&l

2. % 99

3. % gl




4.« did

Question Number : 166 Question Id : 5406267002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fau 7T a1 & fo1g T heq, 1 =g BT

TS R SHTNIRT ST 71T Bl

Options :

1. % St
2. % ST
3. ¢ RIS
4. % 3R

Question Number : 166 Question Id : 5406267002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T T aTeR & foTT Ueh Teg b1 < HITOTT:

"o TR ST ST T gl

Options :

1. % 3fftE
2. % 3

Question Number : 167 Question Id : 5406267003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & & HH-91 Treg "srfd &1 wafaare 78 82
Options :

1. % IR



2. % g

3. % SFUged
4. MY

Question Number : 167 Question Id : 5406267003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfRId & 9 3 1F-91 Teg "SI &1 waigard! el 82
Options :

1. % IRarfoe

2. % ol

3. % Sffugad

4.4 QY

Question Number : 168 Question Id : 5406267004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau T wrsg-gm & et 31 Mg I fadey &1 994 P

Options :

1. % JATY - AcH!

2. ¢ B! 19 - Urgue!
3. % {991 <18 - IHIM

4, ® YRGUS] - TdPb

Question Number : 168 Question Id : 5406267004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 77U <ree-g & Wt 3fd-Ng arel fdshed &1 7o Pifoid:




Options :

1. % JH - !

2. ¢ BT 9 - URgua!
3. % {991 <18 - IHIMI
4. % JRAUS! - T

Question Number : 169 Question Id : 5406267005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFefefead & 9 eierr &1 fadm 2sg |1g?
Options :

1.

2. % 9R

3. % gEurf

4, % HLAMI

Question Number : 169 Question Id : 5406267005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & & e &1 ey 2o 31 52
Options :

1. g

2. % AR

3. % g

4, % LM

Question Number : 170 Question Id : 5406267006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefoad & 9 fe=t & aier auif ot wea frat 8

Options :



1. % 3
2. % THAN
3. ¢ ddg

4. % 3SANg

Question Number : 170 Question Id : 5406267006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfoRea & @ et & oo auif &1 S fhd 82
Options :

1. % I

2. % DA

3. ¢ dag

4. % SN

Question Number : 171 Question Id : 5406267007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= 7 @ 3w 1 I 2rsg o 82
Options :

1. ¢ SRR

2. % SRl

3. % ®el- gl

4, ® dlbddr

Question Number : 171 Question Id : 5406267007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= o 9 5 T fadim <ree 1 67

Options :

1.« AR



Question Number : 172 Question Id : 5406267008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0 T ¥ 3G adl aTd [1eq BT I HIOIT:
Options :

1. ¢ ARsford

2. % BIIBRI

3. % dRdd

4. % Y

Question Number : 172 Question Id : 5406267008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= & § 313G Il aTd TG BT TT HITOT:
Options :

1. ¢ ARt

2. % DI<IBRI

3. % didd

4. % UNfas

Question Number : 173 Question Id : 5406267009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STIC/SHT Xeg T IT DI
Options :

1. % QREm
2. % R



3. v HgIgu
4. % 3MPIPH]

Question Number : 173 Question Id : 5406267009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SETIC/SH Xeg T IT HIIT:
Options :

1. % TRE

2. % RU

3. ¢ HETgIa

4. % JBIDHT

Question Number : 174 Question Id : 5406267010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PrefifRe  § B-a1 21eg »4iRk1 &1 gafaarh 22
Options :

1. % Ulal

2.% HYY

3. % g

4. % T

Question Number : 174 Question Id : 5406267010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Frefofed & 9 $H-91 2eg "HRT &1 ygigar 82
Options :

1. % Julal

2. HYU

3. % B



4. % R

Question Number : 175 Question Id : 5406267011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & @ fog wee ot ad-l g 82

Options :

1. % Ul

Question Number : 175 Question Id : 5406267011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafefed o § fry wee &t ad-! s 32
Options :

1. % Ylpdld

2. % THYATd

3. % @l

4. % Jehc

Question Number : 176 Question Id : 5406267012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A% & Y et 2eg &1 99 DIfoTT:
Options :

1. ® iddr

2. % Wffy

3. % &1

4. gl




Question Number : 176 Question Id : 5406267012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
= O 9 gfceit 2reg &1 =98+ ifo:
Options :

1. % Biddl

2. % WY

3. % &1

4. ggIdI

Question Number : 177 Question Id : 5406267013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & 9 wee "gegRrge § oH-d 9 E?
Options :

1. % fdddTad Gl

2. ¢ HIGdTaD Tl

3. % Ybhdardd Il

4. % gYdrg® I

Question Number : 177 Question Id : 5406267013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fr=fRed O 9 2eg "JegRige” | SH- I3 82
Options :

|. % Hfoarde Gl

2. ¢ HIGdTE Tl

3. % Ybhdardd Il

4. % ZoOdrdd I




Question Number : 178 Question Id : 5406267014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fedTera ¥ 7 A adt 8, T8 a1 [l SRS 1 IaTeRUT 62
Options :

1. ® Y HRD

2. ¥ HUIQIH PRP

3. % gUaH HRP

4. % UG HRD

Question Number : 178 Question Id : 5406267014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fewTera ¥ 7 A adt &', T8 a1 ford SRS 1 IaTeR0T 82
Options :

1. % gdY HPRD

2. ¥ UG HRP

3. % GG HRP

4, % YAV RSP

Question Number : 179 Question Id : 5406267015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qAAH BT P b 9e 82
Options :

1. % Oig

2. % TR

3. % 9.

4. ¢ dH

Question Number : 179 Question Id : 5406267015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

qAAH BT P b 0e 82
Options :

1. % /g

2. % IR

3. % 8

4.9 G

Question Number : 180 Question Id : 5406267016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T o ¥ WIgaTed © Seifid a1 H1H-91 87
Options :

1. v I SR 4 I Hi T8t S|

2. % 98 SARIAAT G|

3. % HHA U foRadr 5l

4. % YIgst I Fal g

Question Number : 180 Question Id : 5406267016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 9 WTaaTed § Sefid I HH-41 52
Options :

1. ¢ 39 SR Y 71 Hi 781 S|

2. % JE JARIAAT R

3. % HHA UF frgdr G|

4. % YT TI AT 8
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Question Number : 181 Question Id : 5406267017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 1 BN, T8 B ST &' - a1 | Ugad "1 fhd UHR &1 JdH 82

Options :

1. % JYdHdh
2. ¥ YR
3. % fAeTarEe
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4. ® [Tgarad

Question Number : 181 Question Id : 5406267017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TGN, T§ DI ST & - a1 J T "SI b THR HT G- g2
Options :

1. ® YD

2. ¢ YRAdIddh

3. % Aoiare®

4. % (AgarS

Question Number : 182 Question Id : 5406267018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=1 9 @ Y a1 BT 99 PIT:
Options :

1. % AHS! ol §-7d g4 I 38! 5

2. % I g H fawa g

3. ¢ T8I had B Had g

4, % BHA 3fc-3Ae HIH B

Question Number : 182 Question Id : 5406267018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
% & Y Y a1 T PIfOIT:
Options :

1. % Tl SITel §-9d gU ST a1 8|

2. % 3¢ g | fawa gl

3. ¥ gl had Hd e g

4. % GO 3T5-3Te HIH DY |




Question Number : 183 Question Id : 5406267019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 o ¥ a9 &1 991 B

Options :

1. ¥ QB & HRUI G5 °UIs W 6! I¢ Yebll|

2. % I TTAd B o 3R g HHmT|

3. % 9 9118 Hgl ¢ o8l H ag |

4. % IAAPUR = YIS P! AR STAT 3R T Aol & 747

Question Number : 183 Question Id : 5406267019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= 7 O WA 91 &1 T S

Options :

1. ¢ T B4 & HRUI g °ls W gl g bl

2. % I ITAd B fHaT 3R ST HHT|

3. % 98 ST gl g el H ag |

4. % JGHHAR 7 TS P AR STAT 3R WY ol §9 747

Question Number : 184 Question Id : 5406267020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I & Y U BT II DITT:
Options :

1. % I TR GRIRUI ¢ |

2. ¥ JUHT TRV R G|

3. % JUP! GRIERU R ¢ |

4, % IHT STARUT GRIRUT §R1 ¢ |




Question Number : 184 Question Id : 5406267020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
qIR &b Y =Y BT TG DI
Options :

1. % I TR GRIRUT & |

2. ¢ BT TRV R G|

3. % D! GIARU R ¢ |

4. % JGHT SR GRIRUT §RT ¢ |

Question Number : 185 Question Id : 5406267021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ T are P! iy arag # aRkafdd #= 981 fadwed &1 9g4 S|
O ot FRIfSar weamarar HRd a8l g 1

Options :

1. % O o1 RS wgam are YR O T8t |
2. % g8l 9 3t FafSar g S YR e ol

3.+ Ug gl YR § Sl 94 &1 ffear seadr ol
4. % gE YR g, T o pgdrar 4T - & ffgan

Question Number : 185 Question Id : 5406267021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77U are &) fiys) gt | ufkafdd &) It fdded &1 94 P |
g1 P FIfSaT wedmarar HRd ggl g1

Options :

1. % 9 & ST wedm arar HRd ) T8t g




2. % g8l IgH &1 RIfsar g St HRd Hgardr ol
3.« Ug 98! R § Sl I o1 fRafear sgermar ol
4. % g1 YRA 8, T S Sgardl 4T 94 o1 Fifsar|

Question Number : 186 Question Id : 5406267022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=1 & 9§ Ty 919 &1 999 DI
Options :

1. % I B YUl B [T I

2. ¢ gl H 7§l & 8T 2 i g g
3. % g1, 399 3@ 5

4. % 39 qH fdepd WG LB

Question Number : 186 Question Id : 5406267022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A o O 1y ot &1 99 PifoiT:
Options :

1. % I94 B guf e ferar g

2. gl IH Tl & 81 2T i @ g |
3. % g1, 31 9a dlb 5

4. % 39 U fdcpd W I TG

Question Number : 187 Question Id : 5406267023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe; arer o e, 7Y, g, =N 3117 FT 1a Sifieed g dl 39 H8d 5|

Options :
1. % Ty arg
2. ¢ TAwfeaiy® arey



3, % IR IR
4. % QYIRS I

Question Number : 187 Question Id : 5406267023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

afe g B e, 7Y, gom, @Rt onfe &1 wa siffmad gl disy . FEd ol
Options :

1. % fog arey

2. ¢ fqTaTiesys are

3. % IR I

4. % QYIS IR

Question Number : 188 Question Id : 5406267024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frefoRed o @ geravT "Rigradie w1 &1 a1 31 g2
Options :

1. % TR TR ol

2. # TRIR ToR J <& T

3. % TR P I TE

4. ¢ 3T dgd gU NS P! d1dl IR oR STaT

Question Number : 188 Question Id : 5406267024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafad § I gerart “Rigradie &A1 &1 31 31 g2
Options :

1. % TR T ol

2. % IR TR G T

3. % TR e I 4T




4. v M 9¢d gU U & d1cll TR ToR STef1

Question Number : 189 Question Id : 5406267025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffefed o 9 forg garak &1 o ot avg &1 3R 8 3R 8T Bid STHT” Bl 82
Options :

1. ¥ g9

2. % ST A

3. % THR BT HHR g

4. % BT G- T

Question Number : 189 Question Id : 5406267025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfeRad o 9§ ford HeTar o1 31 "fordl o T 31aR Bl 31a 1Y BId SIFT" Bidl 87
Options :

1. & Y T

2. ® §gl Tl

3. % AHR BT BDHR Bl

4. % BT UG AT

Question Number : 190 Question Id : 5406267026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR U1 HIeh 331 H e &1 o1 31 g2
Options :

1. % §cdi Bl dve FIER HRAl

2. % FRIEE g

3. ¢ ARfAhdl feSUTehR BT BT

4. % ger0 ¥ faarg &=




Question Number : 190 Question Id : 5406267026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HETeRT "I HIchR d381 B e o7 a1 31ef g2
Options :

1. % §<d] P d¥e HdER HRA]

2. % [RIYHE g

3. + TRAADHAT [FUTHR BT HRA]

4. % ggMU T fqdrg o

Question Number : 191 Question Id : 5406267027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

APIfad "Ug BRE! 3¢ dd, T8 ¢! Havd BT Ad” &1 31 312 g2
Options :

1. % Ogar ¥ 3= Wk &1 B ST

2. « 39 iR Thaar ¥ A TR &1 S BT

3. % T faoeg 41T

4, % S YT fed- 3Ffed 7 v T |

Question Number : 191 Question Id : 5406267027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

APIfad "Ug BRE! 3¢ dd, T8 ¢! Havd bl A" b1 1 372 g2
Options :

1. % gl ¥ I Wk &l BT BT

2. ¢ f3a BIHR Traar ¥ f TR &1 &1 T

3. % T fooeg o

4. % S 3O fRd- 3MfRd 7 qH U |




Question Number : 192 Question Id : 5406267028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
dldifad a1 Herad & Faiid ¥4 &I 99 Il
Options :

1. % & S 81 g, Icl Wb 51 WG |

2. % TR TS B1 1T o) TP 51 G |

3. ¥ T 7S g1 38, 9l Yahr 8l T |

4. % TR T[S g1 U ol Ydahr 8l Y|

Question Number : 192 Question Id : 5406267028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
diifad g1 Helad & Udeld U &l 99 HIfIg;
Options :

1. % T 7S 8 Tg, Il Wb 81 35 |

2. % & TS gl U ) Ydhr 51 G|

3. ¥ = T8 81 T8, <l Yah g1 TTY |

4. % & T[S gl TTU dol Yahr gl |

Question Number : 193 Question Id : 5406267029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I ® ygad [ ug a1 Squi a1 ol WS A & g &1 YT foaT ST B
Options :

1. % or9q g

2. % ol g

3. % qufform faeg

4. ¥ HIESD g

Question Number : 193 Question Id : 5406267029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g ® Ugad el Ug a1 WUl 9T Bl TWEE HRA & fad &1 TRNT faT S |
Options :

|. % qrgd forg

2. % o [og

3. % qufferm faeg

4. & HIBH a8

Question Number : 194 Question Id : 5406267030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 9 fobr arer W SregifaRT g b1 I8! Ut =Te fobar T &
Options :

1. % H U QT UT; ART HIS W 38T U7 b forareit Fa us |

2. % fRIgie & 31§ I=d X B Y ; S!S & B T |

3. ¢ &l ; el ; T e 81 bl

4. % YIY A IRATR ; 98 A o Tal |

Question Number : 194 Question Id : 5406267030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e oo arery 7 SrgifeRT g o1 Hgt ot =Te foban e 82
Options :

1. % T Ug IgT UT; ART HTS WA TeT T & fuarsht Fa ug|

2. % fR1eiep & 31 € =4 X &1 Y ; ST & & &I T |

3. T8l ; I8! ; UHT -Tg! gl Gobdl|

4. % T IY AT IRATR ; 98 AT &1 gl |

Question Number : 195 Question Id : 5406267031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
f=fafad & I qemrays o1, T, § & yd ford g o1 v foean o 82

Options :

1. % [q@gdr® o

Question Number : 195 Question Id : 5406267031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f=fafaa 3 3 qammaye o1, W, ¥ & yd for faee o1 v fosar Sirar g2
Options :

1. % fowrares e

Sub-Section Number : 2
Sub-Section Id : 540626349
Question Shuffling Allowed : Yes

Question Id : 5406267032 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)

f&T T TRy T YD 31T R T P Ik SIfTL-

AT §HAT: THAR 14 TRART, 2019 BT G AT SIUER & 3:30 ot ¥ | HRUTE J H&fId 78 T HRId 2500 SIAH] ! ABR A glad
44 TR I8! ¥ | X IR B ORE 59 TR TSH UR gUR de-1 &1 SATATSTel DI Ach 91 A Bl 3 96 8T 4T §1 & 9 B3 o gal
TR A0 30 TR AR Y| 3D IgR] UR SUAT § THeH o1 =i | 3201 87150 W &l a7 ggat i siidd! WRUT® & S/am! R g9d &
3O ¢ b V| 3TN B Bls Ao ATl AU Th HR - TSP D1 GERI R A AR 39 DIl o A1 I Ig1 99 J cFax AR &1 | Tb
1Y Bl Uh SR YHIDT §3HT| I o 1Y S| o IRR & IRWed s HIeR gL [§ed 8| S[aH R HH:HHﬁtﬂ@@fWWéﬁ%
forg 3ot TSI o UTd 39 R STl 7 BT = R o | HIRUTTW Stai - H Sare Rars &, Al Mdd! agh I U o




T gl TN 34T BT 3R BN &G g3 dl d6i &1 AR [Gd Ggdl ¢ a1l UT| 8 dRW HiF & gobs 3R WA UST g3 UT| Sa 30+ 1t
STl ) TATRI FR IR V| $B & SR A T W Hf$ar & SRT IR S H ST ) ae B Ts | 8 Dl 39 gHS I TR H 7| 39 g |
HFSRUTE & 40 STAH TG1G 81 TC V| TG ST AIRYTTEH B 76 FeTierdd F A b 31aTal Hs oidH 91ad 81 T4 | 39 a1 DI qed
f TR 7 3l & 9 giitcd o S |

1989 & ST SIa! UR 3 Y4 ST gHA1 UT| 39 g - IR o P! fgell R 3 a7 o1 | 981 Sfam &1 o Sd 99T JR&f &1 ddbx Hi Jara
3o | T+ T T b SRR Sd 98 SIa! & BT B o SiTd Ay ol a18-11 B TaTSlie! &1 3 ol JAhT TT| Ui 98 3!
TS O T HIGHIG A 39 §H0 31 oifeR) o | fawpics @ Y R &l 99 J ¢ aTdl 3HTddh! Bt Uga 3fed 3igHe SR & =0 #
AT 31 | 22 T T T < Tl Ut S ATcioh! WS o WY T 411 AT 2018 F TP URAR A MG IR Mt 316HE SR Pl &l
YT | I 9o 98 WIZ(hd I Hal aTe (b U 3R b Iy g1 dlet 4T S/ami IR TN 81 BI SISl &1 ardl fifed ol gferd A 88
TR -3 ATHE H fexrgd # i forar U1, afd 83 IR S9! AdiaH! oo SIS faar uT|

Sub questions

Question Number : 196 Question Id : 5406267033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrfafed o 9 Swisd TR o1 Ifed e o1 52
Options :

1. % 3TN H 3Tl gHe

2. % 26/11 3Tcich] gHAT

3. % I ¢ Aha TRD

4. QI GHaT

Question Number : 197 Question Id : 5406267034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAEffed O T, ITRYed TR & SR JAdTdT g9d &1 [SHAGRY ford 113+ A ot &t
Options :

1. % 3B 9%8 3] T3 ol T HIgHG

2. % SXAMHD T A P TS AikAr

3. ¢ U oS 3HTd! & oiel T Hig e

4. % UIfhE o¥S 3! WTeH aRHR T audl

Question Number : 198 Question Id : 5406267035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

FrAfIRed & 9, SIRYad TR & e | D1F-91 Sy 951 o 67

Options :

1. % g ¥ Ud gU SaM! ®l qd SR & 31 & 99 g1iRued o ST T o |

2. % QAT gHAT S8 g3 3% 8lad WR &l fa ugd 1t Siidie! WRUITE & Sl IR g9 HI 3SE ¢ g Y|
3. % 1989 & §1G S| R §3HT Yo ST g, GIaTHT g Tl

4. ¥ GAdHI gHA H HRUTD & 40 S GG 81 71T A | I Sa HHRUTD Bl 6741 deiferd J U

Question Number : 199 Question Id : 5406267036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= 7 O, IR TR & 3AR JAdTH gHd & GeH B HH-91 Hy quf U 3 Tt 82
Options :

1. ¢ THRUTTE ¥ Y&fId 78 T BRI 2500 A DI ABR AR 8154 44 H ToR g1 o |
2. % JRUITH Y Y&fId 87 T HRIF 2500 A B ABR AR 8154 44 H ToR g1 |
3. % HlRUTT® ¥ Fafdd 78 I HRIT 5200 ST P B A=A 8T5d 42 I ok IaT o |
4. % JRUNNE T A&fId 78 T U9 25000 STAM] Bl AP AR 8184 44 H ToR g1 |

Question Number : 200 Question Id : 5406267037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR SIA! TR AT g8 Bl SIS ¢ a1 SHifad &1 gfer A S{eT-ferT ATl § foxraa o oft foram am
Options :

1. % IR dR

2. % dH IR

3. % O ER

4. ¥ Bg dR

Question Id : 5406267032 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (196 to 200)



T T TTRIT=1 T EYdS SR IR AT P IR aIfoTe-

qaTHT §HAT: AR 14 TRART, 2019 BT &7 UTI GIUER & 3:30 T U | HSRUTE T A& 78 I S 2500 AT DI AHR AR 8150
44 Y ToR B! A | R IR B ORE 3 IR JS& R gOR T8I B! SATATSTR] DI A 31 3 H1fther 31 96 I8T 47| 99 & 9 s oI gal
OR 9709 30 TR S X8 A1 Jh gl UR 3T 9 e o1 GRit ot | 541 g18d WR & fa uga T aiidep! HISRUIT® & SaHi IR gHd Bl
3 ¢ gop Y| THIY &R PIg T T AU U HR - TSP B gIR] R A HTHR 3 HIthel &b 1Y I 6! 9 H cadx AR &1 | D
1Y Bl T STaRGw YHTDT 31| ¥ & AT A1 b IRR & IRGd B HIex g [¥ed M| S0 $© T UTd A1 g9 BT oa1d o &
foTT o=t TSR o UTd 398 SR STl 5 BRI YR B & | HRUNE Sari - Ht a6l HRATs 3, i 3Mdd! agt & YIH o
A 81 T Y31 TeT 3R BRI 8¢ g5 dl 961 &1 AoIRT fad Gedl o aTdT UT| B aRW HiF & ¢ha 3R G TS g3 T | SIaT 3o A1t
STaT & T PR IR U1 P 81 o | T WeRk HIfSaT b TRT R T H M D1 IRE e T3 1 X Pls 39 g0 I T A 71 39 g9 o
HISRUTE & 40 STAH 1S 81 TC V| TG ST AIRYTTE B 76 FeTierdd F A b 31aTal Hs oidH 91ad 81 T4 & | 39 a1 DI qed
FTR A 3l & o9 giikyed o S AT

1989 & ST SIaH! UR 3 JaY ST gHA1 UT| 39 g - IR o P! fgel o 3 oz o1| 981 Sfam &1 o Sid 90T JR&f &1 ddbx Hi Jara
3¢ | T+ T T foh SRR Sd- 98 SIa! & BT B o ST HY ol a18-11 B TaTSiie! &1 3| ol JUbT TT| Ui o8 3!
TS O T HIGHIG A 39 §H0 B oifeR) o | fawpics @ Y R &l 99 J ¢ aTdl 3Tddh! Bt Ug= 3fed 3igHe SR & =0 #
I 31 1 22 T T T < Wl UGSt S ATciah! WS o WY T 411 AT 2018 F ISP URAR A A IR Mt 316HE SR Pl &l
YT | I 9o 98 IZfhd I Hal dTe (b o 3R b Iy ! dlet 4T S/ami R ST 89 BI SISl ¢ ardl ffed &l gferd A 88
TR -3 ATHE A fexrgd # i forar U1, dfd 83 IR S9! AdraH! oo SIS faar uT|

Sub questions

Question Number : 196 Question Id : 5406267033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfafea & 9 Iwiad e &1 I Wive w1 3o
Options :

1. % SFIINT H SATcieh! gHeA

2. % 26/11 3Tcich] gHAT

3. % I ¢ Aha TRD

4. QI GHaT

Question Number : 197 Question Id : 5406267034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fArfeRad 4 9, SWRIed TR o 3R Gaardl 89 &1 fSAgRT forg Tira A &t o




Options :

1. % MBI oS 3! WS O T HgHS
2. % TS W P b TS JRAT

3. ¢ Ul S8 3! TS oI T HIgHIG

4. % BT 9TS 3! TG AIHR T gal

Question Number : 198 Question Id : 5406267035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o §, SwRiad T & Ye & oH-a1 By I8 T8 82

Options :

1. % A ¥ Ud gU STaM! ®l qrd SR & 31 & 99 g1iRbed of ST T o

2. % YT gHAT SIgT g3 341 818d W &l fad ugd 1t STdd! WRUTTK & Jai IR §HA &1 SIS ¢ g U
3. % 1989 & §1G M| UR §3HT Yo ST gHc, IaTHT gl Tl

4. ¢ GAdHI gHA H HRUITE & 40 S TETE 81 71T A | I SfaT HHRUTH i 6701 deiferd J U

Question Number : 199 Question Id : 5406267036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= T 9, IRIad T & SR Yaa™ 87d & GgH H SH-91 HuF quf wu J ugh g2
Options :

1. ¢ TRUTTE ¥ YT 78 T BRI 2500 A DI ABR AR 8154 44 H ToR g1 o |
2. % JRUITH Y YSfIT 87 T HRIF 2500 A B ABR AR 8154 44 H ToR g1 o |
3. % UIRUTTE T HafUd 78 T B 5200 STAM! BT ABR AR B1ad 42 I ToR a1 A |
4. % 3RUTE Y TS 78 T BT 25000 AT DI AHR AR 8150 44 T ToR a1 |

Question Number : 200 Question Id : 5406267037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SR TR & TR SIA R AT g Bl SIS ¢ a1 SHifed &1 gfer A S{eT-SferT ATl § foxraa o oft foram
Options :

1. ¥ IR IR



2. % JHER
3. % AR
4. ¥ FEEAR



